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The following table shows the percentage (%) distribution of the number of students (Boys
and Girls) and the number of girls who are enrolled in five different games, namely, Basketball,
Soccer, Badminton, Cricket and Tennis, in a School during the session 2022-23. A total number of
6000 students are enrolled in all the five games in the school in which the number of girls is 3500.
Based on the data in the table, answer the questions that follow.

Game-wise Enrollment of students in a school

Percentage Distribution of
Game
Students Enrolled (Out of 6000) Girls Enrolled (Out of 3500)
Basketball 16% 14 %
Soccer 21% 28%
Badmmton 14% 16%
Cricket 29% 20%
Tennis 20% 22%

Sub questions

Question Number : 1 Question Id : 5330722212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the number of boys who are enrolled in the game Basketball ?

(1) 805
(2) 430
(3) 840
) 470

Question Number : 2 Question Id : 5330722213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of girls and the number of boys who are enrolled in the
game of Tennis ?

(1) 340
() 370
(3) 390
4) 320

Question Number : 3 Question Id : 5330722214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Number of boys who are enrolled in Cricket is approximately % more than the number
of students who are enrolled in Badminton.

(1) 21.79

(2) 22.71

(3) 23.81

(4) 25.91

Question Number : 4 Question Id : 5330722215 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Number of boys who are enrolled in Soccer is % of the number of boys who are enrolled
in all the five sports games.

(1) 10.2

(2} 11r2

&y 122

(4) 13.2

Question Number : S Question Id : 5330722216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many boys are enrolled in Soccer and Tennis together ?

(1) 610
() 640
(B) 720
@) 710

Question Id : 5330722211 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

e e ® ek formera ® 202223 99 F WA aIRohedrd, Feard, defied, fhhe iR 2w
ATF Yie STAT-STe Well § AWifha foafedal (sers 9 aifeerd) @i 9& 9 aifeenisii @ §&1 #6
ferr( %) feraor giien e ¥ Ternera # %@ 6000 fomnefl & e @eli | Amifea € o | anfeemsti =t
T&AT 3500 T | iR H YEd BT % SNUR W, 3T I8 T4 W & 3T ST |

oo™ ¥ faenfet =1 @a-ar AmieEA

yferera faazor
FeT srATfasa faameff (6000 # &) | @wifda aiferast (3500 7 )
TR-GCaTe 16% 14%
peaTel 21% 28%
Ssffiest 14% 16%
F¥e 29% 20%
e 20% 22%

Sub questions

Question Number : 1 Question Id : 5330722212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ATEhREATe o Wl H AWifehd STeiehl i G &1 § ?

(1) 805
(2) 430
(3) 840
4) 470
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Question Number : 2 Question Id : 5330722213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 & @a # Tmifera anfereristi ®1 S 3R aetehi 1 S o sia o R =1 e ?

(1) 340
() 370
(3) 390
4) 320

Question Number : 3 Question Id : 5330722214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forepe o Amifera a1 dem Sefhe | Amifewa faenfert = g & e % HIEF T |
1) 21.79
@ 22.71
(3) 23.81
4) 25.91

Question Number : 4 Question Id : 5330722215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FedTed H AHifET o] i G g o well § A SerR i H5en i % ¥
1 10.2
@ 11.2
@) 122
4) 13.2

Question Number : 5 Question Id : 5330722216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feara i ey # faete fore wrere amiferd € 2

(1) 610

(2) 640

() 720

(4) 710
Sub-Section Number : 2
Sub-Section Id : 53307292
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330722217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'I never teach my pupils; I only attempt to provide the conditions in which they can learn’ is a
statement by :

(1) Swami Vivekananda

(2) Albert Einstein

(3) Sri Aurbindo

(4) Aristotle
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Question Number : 6 Question Id : 5330722217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B o BTE T off ver T 7, § how UE uRffaat Suers e § e 3 O 99 -9 e
frefafas sfm #F1 ¢ :

(1) @ fagsHs
(2) e FEEH
(3) f sRfer<

(4) SHF

Question Number : 7 Question Id : 5330722218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of learning, which of the following DOES NOT represent the self concept ?
) It is what an individual feels about others.

(2) Itis what an individual feels how others think/perceive of him/her.

(3) Itis an awareness of the individual about his/her strengths.

(4) It is an awareness of the individual about his/her weaknesses.

Question Number : 7 Question Id : 5330722218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

st & ded # fefafga § € Sa-—a  stren sraamon’ =5 gfafafie 1@ e ?

(1) Tore =afed gR0 S84 3 9 Hegd 1 T 96 |

(2) T oafaa gro sgF o A gl g e e /g 7 o |
(3) T&d T/ IO /emared % IR H ot wafa o Stee |
(4) = F FHSAA & IR H FHH =t F S |

Question Number : 8 Question Id : 5330722219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represent characteristics of teaching ?
(A) To provide guidance and training to students

(B) Interaction between authorities

(C) To provide formal and informal education

(D) An art to import knowledge to students in an effective way

(E) To prepare policies for corporate bodies

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (A), (D) and (E) Only

(3) (A), (C) and (D) Only

(4) (O, (D) and (E) Only

Question Number : 8 Question Id : 5330722219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frAfafas o & SH-df fodmars fasro =1 wd gfafafes = € 2
(A) B o AFTEYF IR gferaon <

(B) WIfH=RIEl & &= Harg

(C)  sfrorenfiar R arerg=niier fo1en gem &
(D) BTl I GATE 1 H JH UM FA Hl Fell
(B) wdie frarrai & fore wiifearl Sam s
= feu o fased § 9 Qe W F T4 HIAC ;
(1) e (A) TR (B)

(2) = (A), (D) &R (E)

(3) &= (A), (C) 3R (D)

(4) = (O), (D) ¥R (E)

Question Number : 9 Question Id : 5330722220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1
(Learning style) (Characteristic)
A) Converger I They are best at concrete experience and reflective observation.
& ey P

Their strength is their i_magi_m:ltive abi_lity They tend to be
interested in penple and emotonal elements.

(B) Diverger (Il) They are good at Abstract Conceptualization and Active
Experimentation like solving problems; practical application of
ideas.

(C) Assimilator (IlI) They enjoy and seek new experiences and adopt to new

situations; and are intuitive, risk-takers open minded.

(D) Accomodator (IV) Ability to create theoretical models; possess sound logic,
inductive reasoning, Analytic less interested in people.

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IID), (C)-(II), (D)-(I)
(2)  (A)-(), (B)-(ID), (O)-(1), (D)-(1V)
(3)  (A)-(1D), (B)-(I), (C)(IV), (D)-(III)
4 (A)-1), (B}(ID), (O)~), (D)-(IV)

Question Number : 9 Question Id : 5330722220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11
( 3fermm ( afurereroT )
(A) TS () 329 sryEl SR femaeie Garoi & fore wataw g 1 39 ufsa
FTH] FEGARIST il AFGAT | T 9 S SR WraHraTes aol J s
T g |
(B) ETHESR () o oTod Hyciem 3R 9w TEr S8 auemel o gEeE o,
forami o =Eeris ST § o7 B B
(C) reqETasal (L)) & 9T TS FTd & S ITH 378 o & AR 72 gftfeefadi & stqga
T M 2; St 2 g, Sifem e € ol wer femm arct 2 #
(D) THwE (IV) =79 Sgifcsk AiSTl &1 o1 HA T &0 Bl ¢ 19 deh YIfaR gl €
FTHATCH: Toh I 21t ¢, & faveror e aret 2ra § o ot 3 %9
4 ww@Ed 2
v feu o fawmedi § | WE I F =TI FIfAU
(1) (AHIV), (B)-(LID), (O)-(11), (D)-(I)
(2) (A)-(Im), (B)«(ID), (©)-1), (D)-(IV)
(3) (A1, (B)-(I), (O)-(IV), (D)~(I0)
(4)  (AHD), (By-(IT), (O-(Im), (D)-(IV)

uestion Number : 10 Question Id : 5330722221 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

i

(
(
(
(

Q

Education is the manifestation of perfectio:n a]_ready mn man” is a statement by :

1) Rabindranath Tagore

2y M.K. Gandhi

3)  Sri Aurobindo

4) Swami Vivekananda

uestion Number : 10 Question Id : 5330722221 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

]

(
(
(
(

Q
C

“foreat, W H vESt @ A feem ol B Yok 8 Foreiferfian # @ for st o e 2

1) =T 2R

2)  THE. T

3) ot afa=

4) @ faeEHe

uestion Number : 11 Question Id : 5330722222 Question Type : MCQ Option Shuffling : No

orrect Marks : 2 Wrong Marks : 0
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Survey research on a single, case with a view to revealing important features about its nature,

corresponds to which of the [nllowi_ng research designs ?
(1) Cross - sectional

(2) Longitudinal
(3) Case study
(4) Comparative

Question Number : 11 Question Id : 5330722222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot wehet W () # 3H@ Uohfa Hadt Hemyul sfieremii @1 3SR #A #1 gfe 9 foean s aren

e vy = § § 9 ¥ Wy oifiehed & guey €2
(1) gfafeaTeass

2 oA
(3) RO HAETH
{4) qefrcHsh

Question Number : 12 Question Id : 5330722223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the I‘D]lDWi.ng is concerned with the question whether the measure of a concept truly

represents that concept ?
(1) internal validity

(2) external validity
(3) construct validity
(4) transferability

Question Number : 12 Question Id : 5330722223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 % 9 [ 39 7§ Heitua € for 5 Tt deheamn =1 A9 9 wraa o Se Heheu 1 Wittt s

€7

(1)  safteR e
(2) @ o

(3) TafHa Sz
(4)  SFariaa

Question Number : 13 Question Id : 5330722224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the data sets with following pairs of mean (x)and standard direction () in increasing

order of their coefficient of variation.
(A) a=50o=12

(B)
(©)

=550c=10

= |

= |

=60,0=14

@) x=70,0=15
Choose the correct answer from the options given below :
(1) (A), (B) (©), (D)
(2) (B), (D) (Q), (A)
(3) (©. (D) (A), (B)
(49) (D) (B) (A) (Q)

Question Number : 13 Question Id : 5330722224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl ¥ % WA (x) 9 HEe foEer (o) It R Il el SR YR e % wed 3 H erattem
Hifer ;

(AY x=500=12

(B)
(©)

=55 0c=10

=1

= |

=60,0c=14

(DY x=70,0="15
= feu o fawedi 9 Qi I F1 =T FfST
(1) (A), (B) (C), (D)
(2) (B), (D) (©), (A)
3) (©), (D) (A), (B)
(4) (D), (B) (A), (©)

Question Number : 14 Question Id : 5330722225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC Regulations 2018 on plagiarism, a student’s registration in the Ph.D. Program
will be cancelled for which of the fD]lDwi_ng similarities percentage in the thesis ?

(A) 37%

(B) 46%
(C) 58%
(D) 62%
(E) 78%

Choose the correct answer from the options given below :
(1) (A), (B) (O), (D) Only

@ (®), (© (D), (E) Only

(3) (), (D) and (E) Only

(4) (D) and (E) Only

Question Number : 14 Question Id : 5330722225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

uifeferes =k Fast 350490 faftem 2018 % STER Rl 9. 0=, Fedsn & foaenef &1 gsiewon 39s
e gay 3 = § | fopan wiosra gwmar & s 1§ fman s ?

(A) 37%
(B) 46%
(C) 58%
(D) 62%
() 78%

= fau o faredi § 9 Qe IR 1 999 FIfE
(1) FEe (A), (B) (C) &R (D)

(2) FF (B), (O) (D) 3R (E)
(3) = (C), (D) 3R (E)
(4) HF (D) 3T (E)

Question Number : 15 Question Id : 5330722226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Type of variable) (Example)
(A) Nominal (I) Distance
(B) Ordinal (I1) Marital status
(C) Interval (IlI) Movie ratings
(D) Ratio (IV) Location of places in Latitude degrees

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1D), (©)-(1), (D)-(IV)

@ (A1), (B)-(11), (©)-@), (D)-1V)
() (A, (B)-(1V), (O)-(11), (D)-()
@) (A1), (B)-(1), (©)-1V), (D)-(1)
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Question Number : 15 Question Id : 5330722226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[t - 1 T e - 1 o1 foe i)
Tt - 1 et - 11

(X F USHT) ( 3erET )
(A) TR o T
(B) THHIIF (I) =efess =i
(C) sHauafy (1) =rf= e
(D) =9 (IV) =3eqie feait | i &l farefa

= fau o faskedi # @ W&t IW /T HTAC
(1) (A)-(), (B)-(1D), (O)-1), (D)-(1V)
(2 (A)-(D), (B)-(ID, (C)-1), (D)-(IV)
(3) (A, (B)-(IV), (O)-(ID), (D)-()
(4) (A1), (B)-(LID), (C)-V), (D)-()

Question Number : 16 Question Id : 5330722227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Devarshi Narada is treated as the first communicator, because :

(1) He always speaks against the others.

(2)

(3) He is not everywhere everytime.
)

(4) He is faithful to his lord.

Question Number : 16 Question Id : 5330722227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

< ARE T g HERE THT 5§, i

(1) © oW SHY * fEgers =o€ |

(2) 9 TARIE 9 de €, UaTehRRI o s Heaee] T © SR WuTe & aeadl # foae @ wmw
(3) YT HHY W M W HSE T @

(4) 9 319 W F Ufd TEER & € |

Question Number : 17 Question Id : 5330722228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who invented the Printing process ?

(1) G.Marconi

(2) Tang Dynasty

(3) William Caxton

(4) Johannes Gutenberg

Question Number : 17 Question Id : 5330722228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HeU U9 1 =90 e fran o ?
(1) i, HERTH

(2) @ SEARRL

(3) Tafeaw wage

(4) Sierg A

Question Number : 18 Question Id : 5330722229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Write the following types of communication in proper sequence :
(A) Group

(B) Public

(C) Mass communication

(D) Intrapersonal

(E) Interpersonal

Choose the correct answer from the options given below :
(1) (D), (E) (A), (B) and (C)

(2) (E), (D) (O), (B) and (A)

(3) (&), (B) (©), (E) and (D)

(4)  (B), (A) (©), (D) and (E)

Question Number : 18 Question Id : 5330722229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HaR o frforfaa gerl =i sfEa s § fofa .

(A) HIE

(B) WIESIE

(C) M =R

(D) gt
(E) erdafdas

e feu o foreredl & 9 T S = FE
1 O E (A) B R (O

2) (B), D) (©), (B) AR (A)
(3) (A), (B) (O, (E) ¥R (D)
4) (B), (A) (O, (D) 3R (E)

Question Number : 19 Question Id : 5330722230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who sends what to whom in a communication process ?
(A) Channel sends the message to sender.

(B) Sender sends messages to receiver.

(C) Sender sends the feedback receiver.

(D) Receiver sends messages to sender.

Choose the correct answer from the options given below :
(1) (A) Only

() (B) Only

(3) (A) and (D) Only

(4) (B) and (C) Only

Question Number : 19 Question Id : 5330722230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=R giswar | H g = s ® 2

(A) =, Y9 ] HQ9 Al & |

(B) e, Wriehdl I HeW ST € |

(C) e, wraekal 1 Ffagfiz (Hise) G T
(D) WTeshdl, YUk I GEw T ¥

= fou u foeredi # 9 & IW 1 F9H AT -

(1) I (A)
(2) eI (B)
(3) FE (A) ¥R (D)
(4) = (B) 2R (O)

Question Number : 20 Question Id : 5330722231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1
(Communication terms) (Features)
(A) Effective verbal communication () Knowledge and skills
(B) Effective communication (II) Insufficient knowledge

(C) Effective non-verbal communication  (III) Effective speaking
(D) Barrier of communication (IV) Body language
Choose the correct answer from the options given below :

(1) (A)-D, (B)-I), (Q-IV), (D))

2) (A1), (B)-11), ©)-@), (D)-1V)
() (A)-(D), (B)-(D), (O)-(), (D)-(V)
4)  (A)-(I), (B)-(D), (O(1V), (D)1

Question Number : 20 Question Id : 5330722231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 196 |19 gt - 11 31 e wife |
et - 1 T - 11

(Hu e v ) ( fagrard )
(A) HuET wfeges Higm () TH R R
(B)  wEt Wy (I) 9t 99
(C) W TR-ynfagar Tomor () ST ®9 § S
(D) TER F 37elH (IV) Teka

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(IL), (O)-(1V), (D)-(11)
(2) (A, (B)-(I1D), (C)-(), (D)-(IV)
(3)  (A)-(D, (B)-(1), (C)-(IL), (D)-(IV)
(4)  (A)-(I), (B)~(I), (C)-(IV), (D)-(IL)

Question Number : 21 Question Id : 5330722232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘A’ takes twice as much time as ‘B’ to complete a work and ‘C’ does it in the same time as both ‘A’
and ‘B’ together do it. If all three of them work together and complete the work in 5 days, then the
time taken by ‘B’ to complete the work alone is :

(1) 12 days
(2) 14 days
(3) 15 days
(4) 18 days

Question Number : 21 Question Id : 5330722232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fepeft =Te &1 90 T | ‘A7 1B’ H AT 99 ORTT € S C 59 I I Saq 994 H 90 o o € T
g A B 3 T frere 38 g e § 1 afe 9 o w fresm w e s feii d e an € A
=9 4 I TR T FA § B I TR wHg @i ?

1y 12f@=
(2) 14 fed
(3) 15 fea
(4) 18 f&m

Question Number : 22 Question Id : 5330722233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

90 persons consume 810 kg of food in 27 days. In how many days will 60 persons consume 300 kg
of food ?

(1) 12 days
(2) 13 days
(3) 15 days
(4) 18 days
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Question Number : 22 Question Id : 5330722233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

90 &I 810 Teredt it 27 feri ® Teu = €1 60 & forad foAl # 300 kg HISH &9 T ?
(1) 12fH F

(2 13fAid
(3) 15 fedi
(4) 18fcHi 7

Question Number : 23 Question Id : 5330722234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following fraction in decreasing order :

12
A) 75
7
B 13
11
© 17
17
D) =5

Choose the correct answer from the options given below :
(1) @A), (B) (©), (D)
@ (©). A (D), (B)
(3)  (B), (O, (D), (A)
(4) (D) (A) (B), O

Question Number : 23 Question Id : 5330722234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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et Tl 1 w28 5w 4 ot Y
12
A I
7
B =
11
€ =
17
1=

A fe o fased & | W& IW F T HC
(1) &), (B) (©), D)
(2 (©), (A) (D), (B)
(3)  (B), (©), (D), (A)
4) (D) (A) (B), ©)

Question Number : 24 Question Id : 5330722235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the number that occurs in the series 2, 10, 30, 68, 130, ....... A
(A) 738

(B) 349
(C) 520
(D) 222

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (O) and (D) Only
(3) (A), (C) and (D) Only
4) (A), (B) and (D) Only

Question Number : 24 Question Id : 5330722235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2, 10, 30, 68, 130, ........... H 37 9Tel 37! H1 Ted |

(A) 738
(B) 349
(C) 520
(D) 222

=1 feu T fomredl § § WeH Sugerd 3T T =TI HIN0

(1) eI (A), (B) 3R (O)
(2) = (B), (C) &R (D)
(3) = (A), (C) IR (D)
(4) A (A), (B) 3R (D)
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Question Number : 25 Question Id : 5330722236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List- 1 List - I1
(Word) (Unique Code)
(A) PRIME (I 69
(B) SIGHT (Im 72
(C) QUITE (III) 63
(D) RHYME (V) el

Choose the correct answer from the options given below :
(1) (A)HD), (B}-(II), (O)-(Im), (D)-(IV)
2 A1), (B)-(1), (©)-1V), (D)-1)
(3)  (A)-(1LV), (B)-(IIL), (C)~(11), (D)-(I)
(4)  (A)(II), (B)-(IV), (O)-(I), (D)-(IT)

Question Number : 25 Question Id : 5330722236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[t - 1 T e - 1 o1 foe i)
et - 1 et - 11

== (Word) ( fgera 2 )
(A) PRIME @ 69
(B) SIGHT a 72
(C) QUITE ) 63
(D) RHYME 1) 61

A feu o faepedi & | W@ I = HS
(1) (ARD), (B)(L), (C)(I), (D)-(IV)
2 (AHID, B)-111), (C)-V), (D))
(3)  (A)-IV), (B)-(), (O)-(1D), (D)-()
(4) (A, (BA(IV), (CHD), (D)-(ID)

Question Number : 26 Question Id : 5330722237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What can be inferred from the following ?

“Because x=3 and y =5, then x+y=8§"

Itisa:

(1) Deductive argument based on elimination

(2) Deductive argument based on Mathematics
(3) Inductive argument from Authority
(4) Inductive argument from Principle of Charity

Question Number : 26 Question Id : 5330722237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa & 1 STHHM @ S W € 7
“FGifH x=3 AR y=5T x+y=8"
TET

(1) =% faeme smenfa fFrmArTs o
(2) @8 iU seIid FeAmeHe a9 2|
(3) @& WIfHRRT & YT ANTHAH ek ¢ |
) eI o TaEia | W SARTHAHSE a9 © |

Question Number : 27 Question Id : 5330722238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT a common pattern of Deductive Reasoning ?
(1) Hypothetical Syllogism

(2) Categorical Syllogism

(3) Argument from Definition

(4) Predictive Argument

Question Number : 27 Question Id : 5330722238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefefaa & 4 Fm-a Frmares 9F & ame= ey (Yed) 79 € ?
(1) WTRRCTICHE =19 S

(2) freuier =m s

(3) O & 9T ah

(4)  wfoergEe 76

Question Number : 28 Question Id : 5330722239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following can be claimed of Deductive argument correctly ?
(A) I the premises are true, then the conclusion is pmbably true.

(B) If the premises are true, then the conclusion must be true.

(C) It is unlikely for the premises to be true and the conclusion false.

(D) The conclusion follows necessarily from the premises.

(E) It is impossible for all the premises to be true and the conclusion false.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (A)and (C) Only

(3) (B), (D) and (E) Only

(4) (A), (D) and (E) Only

Question Number : 28 Question Id : 5330722239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa § & s o % 9N § ®FE 96 T/ € 2

(A) AfE MR o Fe & o TRy Hyed: Jed 2 |

(B) Afg YR arR Hed € of ferd 1oy 9 2 |

(C) YR areEl & T B4 T2 T9RY &1 19 S 91: 999 el Bial |
(D) Trepd srframd w9 § R 9t | srfoe S e

(E) |l SN Skl o1 Sl el a2 e 31 79 €1 STHYE 2 |
= feu mu forredi § § W& 3T A =TI FHY

(1) e (A), (B) 3 ()

(2) & (A) 3R (C)
(3) @d (B), (D) i (E)
(4) HEA (A), (D) 3R (E)

Question Number : 29 Question Id : 5330722240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Concept) (Description)
(A) Statement (I) A statement in an argument that is intended to be proved or
supported by the premises
(B) Premise (II) A sentence that can be viewed as True or False
(€) Conclusion (ITlI) Group of statements intended to prove or support another
statement
(D)  Argument (IV) Reason why we should accept another statement or conclusion

Choose the correct answer from the options given below :
(1) (A)-(LD), (B)-(I), (C)-(L), (D)-(IV)
(2)  (A)-(1D), (B)-(IV), (O)-(I), (D)-(III)
(3)  (A)-IV), (B)-(I), (C)-(II), (D)-(I)
(4)  (A)-(1D), (B)-(III), (C)-(1V), (D)-(I)

Question Number : 29 Question Id : 5330722240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11

( 3@ ) (Fuis)
(A) F @O T giaa o = Fy 59 esmur s g weifora = gafia e
ST S €
(B) NHRATH (1) T o o O o1 789 o ®9 1 <@ & Hehal € |
(C) Traewd (II1) =Fei =1 T9e fSHek g0 319 oA &1 Yo o1 gafda fean s
o ¥
(D) I (IV) &H S8 e a1 fepd o 1 Telieh Tl =N1feq, S9! I |

Fr= feu mu fasedi ¥ | W& T T 7 FHIGC
(1) (A, (B)-(D), (O)-(1), (D)-(IV)
(2 (A)-ID, (B)-(IV), (O)-), (D)-(1II)
(3)  (A)-V), (B)-(D), (O)-(IL), (D)~(11)
(4) (A1, (B)-(1D, (©)-1V), (D)1

Question Number : 30 Question Id : 5330722241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Term/concept) (Description)
(A) Upanaya (I)  The knowledge of Paksadharmata as qualified by Vyapti
(B) Paramarsa (I) The invariable relation or association of the Middle term in the
minor term
(C) Vyapt (IlI) The application of the universal concomitance to the present
case
(D) Paksadharmata (IV) The invariable association of the middle term with the major
term

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(T), (O)-II), (D)-(IV)
(2)  (A)-(II), (B)-(ID), (C)-(IV), (D)-(I)
(3)  (A)-(1V), (B)-(III), (O)-(I), (D)-(II)
(4) (A)-(L), (B)-(I), (C)-(IV), (D)-(II)

Question Number : 30 Question Id : 5330722241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
T - 1 et - 11

(U/ASEITTO) (=i )
(A) 3IF () =Aftd gRI ATeaa qarHd 1 I
(B) R (1) ¥ 95 3R 981 9g &1 FRuare gey s7erer 9eed
(C) = (1) TrEifoes geafdar & ada mme § sy
(D) TaerHa (IV) ¥4 9% 3R |9 98 1 fems wead

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(ID, (B)-(1), (O)-(11L), (D)-(1V)
(2)  (A)-(m), (B)-(ID), (C)-(1V), (D)-(D)
(3)  (A)-(LV), (B)~(IIL), (O)~(I), (D)-(IT)
(4)  (A)-(I), (B)~(I), (C)-(IV), (D)-(IL)

Question Number : 31 Question Id : 5330722242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ChatGPT is an Al chatbot developed by OpenAl and was launched in November 2022. What
does ChatGPT stand for ?

(1) Chat Generative Pre-trained Transmission

(2) Chat General Pre-trained Technology

(3) Chat Generalized Pre-trained Technique

(4)

Chat Generative Pre-trained Transformer

Question Number : 31 Question Id : 5330722242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SHE. @A TaTE. 5 faewfaa uw 0w afs (T, Jeeie v SR 5 Tee 2022 § wafda fw
T 1| HE S, g AT e ?

(1) == SRfes dfi-gve gifaeH

(2) =T TS W-ZUE TS
(3) 2 SHeTgse W-2ue ZoFHh
(4) 2 SHifEa W TUe TEEER

Question Number : 32 Question Id : 5330722243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the following snapshot of MS-EXCEL worksheet :

A B B

1 90 70
Z 60 170
3 150 | 20
4 30 110
3 50 40
6 130 | 30
7

What will be the value of the cell C1 conl:ai_lﬁng the formula=SUMIF(A1:A6,">100",B1:B6) in the
above worksheet ?

(1) 90
() 390
(3) 50
(4) 420

Question Number : 32 Question Id : 5330722243 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

UH,UH, U 1 95 F e Sueiie g faamr #ifs .

A B &

1 90 70
2 60 170
3 150 | 20
4 30 110
5 50 40
6 130 | 30
o

IEF Frd 9T H FwE ClL H I =SUMIF(A1:A6,>100”,B1:B6) T L 9L | 1 €711 7

(1) 90
) 390
@) 50
(4) 420

Question Number : 33 Question Id : 5330722244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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If (L)ys represents a number L in base - M number system, then identify the correct descending
order of the fU]lDwi_ng number A-D, when converted to base-10 number system.

(A) (9C)yq

(B) (233)

© (1),

(D) (10011110),

Choose the correct answer from the options given below :
(1) (©), (D) (B), (A)

(@) (D) (©)(A) (B)

(3) (B, (O) (A), (D)

4) D) Q). (B), (A)

Question Number : 33 Question Id : 5330722244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afg (L), o5 TH 3ok JUIel! H Sieh Tl i Sl 8, df 774 35 A-D =l s[9-10 37 Fomel H ®9ia i
T IR Hel STeiel A i Tedr FIfS ;

(A) (9C)
(B) (233)g
(©) (313);

(D) (10011110,

= feu T faehedi § & W@ ST =EE H
1) (©, (D) (B) (A)

2 ©O) (©) (A) (B)

3)  (B) (©) (A) (D)

@) (D) (©) (B) (A)

Question Number : 34 Question Id : 5330722245 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

What are the advantages of using Cloud Computing word processing software ?
(A) The user does not have to install word processing software on the computer.
(B) The user does not have to allocate space to install software in the hard disk.

(C) Storage space to save the document is provided by the cloud provider. The user can open or
edit the document from any computer which has Internet facility.

(D) If the user has slow Internet connection, then he/she would not face any problems accessing
or downloading his/her documents.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (A)and (C) Only

(3) (B), (O) and (D) Only

(4) (A), (B) and (C) Only

Question Number : 34 Question Id : 5330722245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FARE FT I TG TiRerR % WA F F1-31 &1 € ?

(A) W F FHE R g WAfET Sireaar yfaweifu 7 & e 2

(B) AR T WiwzeRR i 1 & fou e fewr-—H A seEfed 721 e g 2|

(C) v =i Gifem TaA B YR TN F8E Wer YoM Hdl €| e see gfan arer et oft
FU H Yor@l Sl @il SAYe Hurfed T Hehel 2|

(D) afe gEER 1 3202 FAFE i 2, 91 Y 199 Jordl a9 TR d SAYel 3¢ SR I H I g
&l 2 |

= feu U fomredi # & W& I A =TI FY

(1) e (A) 3R (B)

(2) = (A) 3R (C)
(3) = (B), (C) 3 (D)
(4) = (A), (B) IR (O)

Question Number : 35 Question Id : 5330722246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Initiatives in Higher Education) (Description)
(A) GIAN (I) Translation of research knowledge into viable
technology (products and processes)
(B) IMPRINT-2 (II)  Achieve three Cardinal principles of Education policy
namely, access, equity and quality
(C) DIGILOCKER (IIT) Tap the talent pool of scientists and entrepreneurs
internationally
(D) SWAYAM (IV) Issuance and verification of documents and

certificates in a digital way
Choose the correct answer from the options given below :
(1) (A, (B1), (O-(I), (D)-(IV)
@ (A, B)-0), (C)HIV), (D))
(B) (A, (BRI, (O-(11), (D)-(IV)
(4) (A, (B)D, (C-IV), (D))

Question Number : 35 Question Id : 5330722246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e )
il - 1 T - 11

( == fomer o wget ) ( fererroT )
(A) A (Hemue.) () i S o1 oAderd Ureifiehl (3e 9 9fhand) # sfawm
(B) 3fFge-2 () Toen fifa & &9 qorga fosidi-s9rmy, e o qoEs =
T FAl
(©) fesfars (L) STAErg WX W AR 9 el & Tfas e & T@e
(D) =4 (WEFUIRTTH.) (V) fesfiea adF ¥ yordi 9 wHmosi sl St T 9 ST T
T

== feu o foshed ®§ 9 W& IR F =TI HIGC ;
(1) (A)-(IL), (B)-(I), (©)-(1), (D)-(IV)

2 (A1), B)-(1), (O~1V), (D)-(1)
(3)  (AHD), (By-(I), (O)-(I), (D)-(IV)
(4) (A, (B)-D), (O-(1V), (D)(I)

Question Number : 36 Question Id : 5330722247 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Based on the source of their food, organisms occupy a specific place in the food chain, known as :
(1) Trophic level

(2) Standing crop

(3) Top level organism

(4) Species level

Question Number : 36 Question Id : 5330722247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T W % BT o AR W @ e # sial 5 ek fafere e g ® s e v F e @
(1) et =R

2 T
(3) Y wEE e
(4) Sftasid T

Question Number : 37 Question Id : 5330722248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a primary air pollutant ?

1) COo
2) NO
(@) O,

4) SO,

Question Number : 37 Question Id : 5330722248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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=1 § | 1 uF mufas 9m yguE T § 7
1) Co

(2) NO

(3) O3

4) SO,

Question Number : 38 Question Id : 5330722249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following gases in ascending order of their global warming potential (GWD).
(A) CO,

(B) CH,
(C) SF,
(D) CFC-11
E) N,0

Choose the correct answer from the options given below :
(1) @A), (B) (O), (E), (D)
(2) (A). (B) (E), (D), (O)
(3)  (B), (©) (A), (E), (D)
(4) (A). (E) (B), (D), (O

Question Number : 38 Question Id : 5330722249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et i <1 St afveer araa Suferar & sTiE sha § sgafierd Sifse :

(A) CO,
(B) CH,
(C) SF,
(D) CFC-11
(E) N,O

= feu mu fasedi ¥ | W& I T 7 FHIGC
(1) (A (B) (O, (B), (D)
(2 (A)(B) (B, (D). ©
(3) (B) (© (A), (E), (D)
@) (A), (B B), (D), ©

Question Number : 39 Question Id : 5330722250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the followings are global scale Phenomenon ?
(A) Ozone layer depletion

(B) Global warming

(C) Forest Fire

(D) Sea level rise

(E)  Air pollution

Choose the correct answer from the options given below :
(I) (A), (C) and (D) Only

() (A), (B), (C) and (D) Only

(3) (B, (C) and (E) Only

(4) (A), (B) and (D) Only

Question Number : 39 Question Id : 5330722250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 & @ BF-H YHead W H TREeA 2
(A) S 9 o

(B) dfYar A

(C) =&

(D) WIR TR H g

(E) =g HgH™

e feu T foreredl & 9 T S F = T
(1) Fd (A), (©) R (D)

(2) F=@ (A), (B), (O) 3 (D)
(3) @ (B), (C) #H (E)
(4) E (A), (B) ¥R (D)

Question Number : 40 Question Id : 5330722251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(International Meetings) (Key objectives)
(A) Kyoto protocol (I) Global warming
(B) Montreal protocol (II) Biodiversity conservation
(C) Rio Summit (IIl) Ozone depletion
(D) Paris Agreement (IV) Solar Alliance

Choose the correct answer from the options given below :
(1) (A1), (B)-(II), (ORI, (D)-(IV)

2 (A1), (B)-1), (©)-@), (D)-1V)
() (A)-(), (B)-(D), (O-(IV), (D)-(IT)
() (AHIV), (B)(1D), (O)-(1), (D))

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 27/99



8/22/24, 11:55 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 40 Question Id : 5330722251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 136 |19 gt - 1 e e )
et - 1 et - I

(feiedia e ) (7 R=¥a)
(A) IR YrEreTe () Sfs
(B) Wifzad dreieTa (1) Stafefawar e
() Treh forer Trer (L) SIS &for
(D) uftw wsiar (IV) HR 4y (Tems)

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(III), (O)(IT), (D)-(IV)
(2) (A, (B)-(I1D), (C)-(1), (D)-(IV)
(3)  (A)-(II), (B)-(D). (O-(IV), (D)-(IT)
(4)  (A)-(1V), (B)~(II), (O)~(1), (D)-(11I)

Question Number : 41 Question Id : 5330722252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the fn]lnwing open Universities according to their year of establishment in Chronological

order (Older - New) :

(A) Yashwant Rao Chavan Maharashtra Open University
(B) Karnataka State Open University

(C) U.P. Rajarshi Tandon Open University

(D) Kota Open University

(E) Madhya Pradesh Bhoj Open University

Choose the correct answer from the options given below :
1) (A (B), ©), (D) (E)

2) (D) (A) (B), (B) (O

(3)  B), (©) (E) (A), (D)

) D) (A), (B), (O), (E)

Question Number : 41 Question Id : 5330722252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafafes g favafaareal +1 TFT ®WNUA-99 F FAFAHEAR FAftgqd FISC
(90 | 74 & FH H):

(A) TS =ee Henre e fovafeemea

(B) AEH T T Tava Tammem

(C) 7. usifd Z=4 g favafaea

(D) =hler o favafeaerea

() WA Yeu1 9 waa favafaenmea

49 fau 7o fawredi ¥ ¥ WE S F 999 FIfAU ;

(1) (A), (B), (O), (D), (E)
(2 (D) (A) (E), (B) (C)
(3)  (B), (O) (E), (A), (D)
4 (D) (A), (B), (C) (B)

Question Number : 42 Question Id : 5330722253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(MOOCs Quadrant) (Component)
(A) Quadrant I (I) e-Tutorial
(B) Quadrant II (I1)  e-Content
(C) Quadrant III (III) Web Resources
(D) Quadrant IV (IV) Self Assessment

Choose the correct answer from the options given below :
(1) (A)HD, (B}-(II), (O)-(II), (D)-(IV)
(2)  (A)(D), (B)-(IIL), (C)-(I), (D)-(IV)
(3) (A1), (B)-(V), (O)-(I), (D)~{IL)
(4)  (A)-(IV), (B)-(1), (C)-(IM), (D)-(I)

Question Number : 42 Question Id : 5330722253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11

(YT =T ) (o2 )
(A) et () 3-Toemrl
(B) =t II () E-foawa-a%
(C) = Il (II1) =F O
(D) =AT IV (IV) =E-TediFa

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(1L), (O)-(11L), (D)-(1V)
(2)  (A)-(D), (B)-(IIT), (C)-(I), (D)-(IV)
(3)  (A)-(1D, (B)-IV), (O)-(1), (D)-(IIL)
(4)  (A)-LV), (B)-(1), (C)-(LL), (D)-(11)

Question Number : 43 Question Id : 5330722254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Where did nuns and monks meditate, debate and discuss with learned for their quest for knnwledge ?
(1) Monasteries

(2) Basadis
(3) Churches
(4) Ghatika

Question Number : 43 Question Id : 5330722254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fuegforat wd fueg o1 I % e & ford el W eAmE, o fagri & e ae-dare vd faan-fans
FA 42

(1) foerd

(2) wHied |
(3) frReERi §
(4) wfesw H

Question Number : 44 Question Id : 5330722255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following themes of Sustainable Development Goals according to their goal number
n i_ncreasi_ng order.

(A) Gender Equality

(B) Zero Hunger

(C) Peace and Justice

(D) Climate Action

(E) Quality Education

Choose the correct answer from the options given below :
(1 ®B), (E) (A), (D), (O)

(2 (A). (B), (D), (O), (E)

3)  (©), (D) (A), (E), (B)

(4) (B), (A). (B), (D), (C)

Question Number : 44 Question Id : 5330722255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad fawm el & fefatag fawai (o) #1376 @80 9@ & 991 9ed 80 %0 ¥ oFafed
I
(A) Sfirr (Sfer) FuEE

(B) YEw{ o wHIfE
(C) wfd o =m
(D) SIAIH-FHAR
(E)  TUreTIeR e

e feu o fawedi § | WE I F =T FIfAT
(1)  (B), (E), (A), (D). (C)
(2)  (A), (B), (D), (O), (E)
(3) (©), (D), (A), (E), (B)
4) (B), (A), (E), (D), (O)

Question Number : 45 Question Id : 5330722256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of following are the parts of AYUSH undergraduate education ?
(A) Siddha

(B) Sowa - Rigpa

(C) Yoga-Shastra

(D) Homoeopathy

(E) Sanjeevani

Choose the correct answer from the options given below :

() (A), (B) and (E) Only

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only

4) (A), (©) and (E) Only

Question Number : 45 Question Id : 5330722256 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

frfefaa & | $F 319y (TR, 3,091, ) [&-Fas fas F 9 € ?
(A) faz

(B) Hraw-fm

(C) AT

(D) el

(E) wsfrat

= feu o fawredi W | WE I F =TI FIfSU

(1) e (A), (B) 31 (E)

(2) e (B), (C) ¥R (D)

(3) A (A), (B) 3R (D)

(4) A (A), (C) 3 (E)
Sub-Section Number : 3
Sub-Section Id : 53307293
Question Shuffling Allowed : No

Question Id : 5330722257 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions.

After being constituted into a separate State, Jharkhand has been consistently making progress
in all fields including culture. Its efforts to create awareness among the people about the State’s
built heritage by organising archaeological workshops have been particularly helpful. There are
also initiatives taken to organise State level festivals to promote the arts and crafts of the local
people. With its natural endowments also the State has become a favourite destination for visitors
from all over the country and abroad. Places like Baba Baidya_nath Temple, Suraj Kund, Maithon
Dam, Noori Masjid are some such places which witness large number of visitors. The State
Government is particularly committed to enrich the bamboo and wood crafts of the State along
with tribal paintings and the stone carving activities. In the field of education, Ranchi, once
considered to be a hub of quality education, is regaining its reputation. In the field of sports too the
State has earned national recognition- This is specia]_ly so in the case of games like hockey, archery
and cricket at both the national and the international levels.

Sub questions

Question Number : 46 Question Id : 5330722258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The organisation of archeological workshops has helped to create awareness about :
(1) Arts and Crafts

(2)  Built heritage

(3) Bamboo and woodcraft

(4) Games and sports

Question Number : 47 Question Id : 5330722259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Jharkhand has become a favourite destination for visitors from India and abroad because of its :
(I) Stone carving activities

)  Mineral wealth
(3) Natural attractions

) Central location

Question Number : 48 Question Id : 5330722260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following activities is NOT included with state government initiative for enrichment

?

(1) Bamboo and woodcraft
(2) Tribal painting

(3) Stone carving

(4) Rock Painting

Question Number : 49 Question Id : 5330722261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which combination of sports has [harkhand gained national and international recognition ?

(1) Cricket, archery and hockey
(2) Cricket, archery and shooting
(3) Croquet, Cricket and archery
(4) Cricket, football and hockey

Question Number : 50 Question Id : 5330722262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which city was once considered the hub of education in Jharkhand ?

(1) Deoghar

(2) Ranchi
(3) Jamshedpur
(4) Koderma

Question Id : 5330722257 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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e Trenier Rt ufeu 3iiv 39k @1g U9 T Uyl o I i

T Yok U9 | GHfed g o qvEd, FEve ekl afed gl &9 # gad wfa s @ B 1 O i A
YRIEY o HaY H YUdcid FEYTesl o SATArs gRI U4 i Sidl o aild STReehdl 3099 & o 39 JamH fergrg
¥ Y TeEF gUE |

T SHAT 1 Fenedi @R g & Hada ¥ fau 759 wig soae safed 3 & fau uea of =5 2 §)
9T wTepfaes stera fafa & off 5 T S oin foewll & wdeei % fou v fig vided wa a9 T | S S
ey, Grewhe, HeF Jiy, 0 ufee T8 Fo ToF € el 9 g ¥ gdes o € | 159 TR o7fen fag e ol
Torem el & WY-WY a9 9 H1S ew = 99g A oY fav w9 8 genag €1 e & & § v awa |-
T[oTEr o1 ForeT =R o WA ST STel YT UE U 9 YA: 391 Giaeet A T E | Wordhs o &5 H o T
J T T ure S U a9y o e, et o forthe S wel % ume H U 9 Sfaiig T W e
|

Sub questions

Question Number : 46 Question Id : 5330722258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R ErEeensl & o |3 e 8§ frges gey 1 sireshar 30 A § Wer # § 2

(1) e = forey

(2) fafa =ee

(3) G T HISH
)

WA o WAFS

Question Number : 47 Question Id : 5330722259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= o I forgs R EvE aRa @R fessh | ydes! o fou v g e Toe 59 T 2
(1) Tomer-aerreh framrem

(4

(2) @S HEl
(3) TERfde AR
(4) FHEMA sEfeafa

Question Number : 48 Question Id : 5330722260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et & & 7 @1 o e dada ¥9 50 9 #1 ved § aftafed @ 2

(1) =9 9 Frefeeg
(2) enfew fesere
(3) o emmft

(4) T fesmERen

Question Number : 49 Question Id : 5330722261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gorEs o 1 0 § o waem o e 3 U 9 A o e #5802

) Tordpe, diierst a et
) ToreRe, dirErst | gfen
) R, foRRe @ dRaETsT
) ToFeRe, Feara a et

1

(
2

—
W= L

( /

Question Number : 50 Question Id : 5330722262 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AEve H = § | i |1 98l U GHT 9L TRe R Shes | S o ?

1

¢
2

_— e
= Ld

)
)
) SHITR
(4)

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Adult Education

53307232
2

Online
Mandatory
92

92

200

0

1
53307294
Yes

Question Number : 51 Question Id : 5330722263 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

What is the Gandhi’s model of Basic Education ?

(1) Basic Education was to contain craft learning and mother-tongue

(2) Basic Education was to contain mother-tongue, tuition, maths and social studies

(3) Basic Education was to contain a number of major curriculum elements craft learning, mother-
tongue, maths, social studies, general science, music and drama.

(4) Basic Education was to contain maths, social science and drama.

Question Number : 51 Question Id : 5330722263 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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T ST o e e o wied fefatea W 8 e ?

(1) g fran ¥ forew s SR wrguren =1 enfae feran s o

(2) SRl foren § wrgur, SEE, T iR GHIS SeaEA s el feEn S o |

(3)  FIFrEe foren ® yreT=at F wgd W U@ o97d  foey eiftem, Agem, 1o, SEeT s1eEs, 9
T, |ffa S e =1 nfhe fowan s o |

(4) SfERT fen 7 o, weifse fagm @R e e e st o

Question Number : 52 Question Id : 5330722264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following declaration provided a policy direction for all participating countries to
achieve well defined bench marks by the year 2000 in providing ‘Education for All-children and
adults ?

(1) The Jomtion Declaration of 1990

(2) Hamburg Declaration of 1997

(3) New Delhi Declaration of 1995

(4) Paris Declaration of 1990

Question Number : 52 Question Id : 5330722264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feeifera # | forg =iroon # sym1 &F a1t i <91 o6 ' et o fore foran-arers $iX dig =1 9 2020 99 foan
WM T & A H AR =gaaq wHee #1 wita & fore fifa e &1 3es foran 72
(1) 1990 = SrEH =HEon

(2) 1997 =1 Errt Hroon
(3) 1995 i = faoed =oon
(4) 1990 =T URH =Hrgn

Question Number : 53 Question Id : 5330722265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Name the UGC Guidelines of XI plan (2007-2012).

(1) Guidelines of Adult, Continuing Education and Extension.
(2)  Adult, Continuing Education and Field outreach

(3) Guidelines of Lifelong Learning

(4) Guidelines of Lifelong Learning and Extension

Question Number : 53 Question Id : 5330722265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR FEadtd e (2007-2012) B SH favafarmera srem s % fewnfade 1 9w fewifea i
(1) =%, gaa foan 3ik war feon fdo

(2) =Fk, Haa e i &g st
(3) e e At & feenfrew
(4) Stam vEa srfer ofR R % fom few
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Question Number : 54 Question Id : 5330722266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the following was Adult Education accepted as an integral element for the first time ?
(1) National Education policy of 2000

2)  Kothari Commission on 1964

3) National Policy of Education 1986

4) National Policy of Education 1965

A — —

Question Number : 54 Question Id : 5330722266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freifera ® 9§ foradl dig Toien =1 Teferm sfasfa sema & w9 § wier foFar 7 ?

(1) T foa ifd, 2000
(2) RIS AN, 1964

(3) A foan ifa, 1986
(4) T2 foer Hifd, 1965

Question Number : 55 Question Id : 5330722267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in sequential order as per the starting of the programme.
(A) Concept of Development Literacy

(B) Concept of Social Literacy

(C) Concept of Functional Literacy

(D) Concept of Basic Literacy

(E) Concept of Lifelong learning

Choose the correct answer from the options given below :

() (@) (B) (©) (A), (B)

@ ®), (©). (&), D) (E)

(3) (A, (B), (©), D), (B)

(4) (B), (A), (O), (D), (E)

Question Number : 55 Question Id : 5330722267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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feAifera o1 wHEwH STRY fFU 91 F 2THR R 3f9a o7 FA § =aftad $ifsd .
(A) TorehTs W&t TSGR
(B) HTHIfSTR WA ol HAN
(C) TFrTHe: 14T 3 ST
(D) SR HIERET sl STEERn
(E) =frsitad sy &l stasmon
= feu mu forredi § § W& 3T A =TI FHWY
(1) (D), (B), (O), (A), (E)

2 (B, (©), (A), (D) (E)
@) (A) (B), (O, (D), (B)
@) (®), (A), (©), (D), ()

Question Number : 56 Question Id : 5330722268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following is sequential order of starting of the programme.
(A) National Literacy Mission

(B) Sarva Sikha Abhiyaan

(C) National Education Policy

(D) National Adult Education Programme

(E) Understanding Literacy Learning for All in the Society
Choose the correct answer from the options given below :
1) (A) (B), (©), (D), (E)

2)  (A) (D), (B), (©) (B)

(3) (&) (©), (B), (D) (E)

) D) (A), (B), (O), (E)

Question Number : 56 Question Id : 5330722268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feifera =1 FTEishH SRY B1H & YR T TP6H H SAaieed iy ;
(A) U= Hea e

(B) wefwian iy

(C) gt favan ifa

(D) T Frge foe wefwn

(E) wrHrst o 9fi safadl o fo sfie wda siferm &1 90
== feg o ferpedi W | W& I A = A

(1) (A) (B), ©), (D), (E)

(2) (A) (D), (B), (O), (E)

(3)  (A) (©), (B). (D), (E)

(4) (D), (A), (B), (Q) (E)
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Question Number : 57 Question Id : 5330722269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the main function of Directorate of Adult Education in India ?

(A) Provide academic and technical resource support to National Literacy Mission.
(B) Organize training and orientation program.

(C) To create awareness among parliamentarians of the country

(D) To create awareness among political leaders at the global level.

(E) Support new universities and colleges in India.

Choose the correct answer from the options given below :

(I) (A) and (B) only

(2) (C) and (D) only

(3) (E) and (A) only

(4) (A) and (C) only

Question Number : 57 Question Id : 5330722269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ara H e foen Femers =1 g FE Fm E 2

(A) T e fov it erfors v qetenl G SerEd geE wE
(B) wfereTor 3R ufiEym sy srEifea we

(C) Yz foml o1 S0 % oI | 37erma T

(D) afveer T 9 TeHifas Tarsd & Tera HIAl

(E) R # -u fovafaeredi sik werfa=nedl i Teraa g &

= fou o fasedi § ¥ WE W H T wfAC

(1) 9 (A) 3R (B)

(2) %A (C) IR (D)
(3) = (E) R (A)
(4) = (A) #N ()

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 39/99



8/22/24, 11:55 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 58 Question Id : 5330722270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Local bodies defined as Panchayats, Municipal Councils and Municipal Corporation concerned
with Adult Education played a key role at the local level because.

(A) Local bodies are helpful in Adult Education

(B) Local bodies play politics, not promote Adult Education

(C) Local bodies are useful for the growth of Adult Education at the micro level.
(D) Local bodies should be dissociated with Adult Education.

(E) Local bodies are not useful for the programme.

Choose the correct answer from the options given below :

(1) (A) and (C) only

(2) (A) and (E) only

(3) (A) and (B) only

(4) (A) and (D) only

Question Number : 58 Question Id : 5330722270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

eI, TR 31 TR & w0 # aftnfue e e | Ui foen & 4 e R W Tewee
sffireRT fTg aFaifem

(A) T ek die foren | weme €

(B) TIHM feRrg TSIl Ld € 3R A Ui faa =il agen 76l <d @ |
(C) TrHTa Fehmg 9am W W UIg e & faem & fag 3o €|
(D) THE fermEi 1 dte faan | faafia feran s =nfen

(E) werrra ferma srdsw o o swarht == 8

4= feu o fasedi ° 9 WE I 1 = FIfSC

(1) F=d (A) R (Q)

(2) e (A) #R (E)

(3) e (A) R (B)

(4) A (A) IR (D)

Question Number : 59 Question Id : 5330722271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - II

(A) Knowledge and social change : (I)  Laura Formenti and Linden West
An enquiry into policy research

(B) Institutionalising lifelong learning (If) Madan Singh

(C) Transforming perspectives in lifelong (Iy Madhu Singh

Learning and adult education
(D) Companion to adult education (IV) Rajesh Tandon
Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(ID), (C)-(I), (D)-(II)
(2 (A)AD, (By-(II), (O-(m), (D)-(IV)
(3 (A1), (B)-(1), (O)-(I), (D)-(1V)
(4)  (A)-(IO), (B)-(ID), (C)-(1), (D)-(1V)

Question Number : 59 Question Id : 5330722271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

eI - 1% T1e el - 11 o1 e s

-1 et 1
(A) ierst TUE Hivie o9 : UA gAFaEd () < wrHe wog fofeq o

== iterd! fa=
(B) ER=zHerfeT @RS @ At (1 weA fog
(C) et yeyfaey 3 wEE wn (1) =¥y foe
AT W TEeT THHIH
(D) AT 2 TST THhIH (IV) s 2ed

=1 fou U fosredi W 9 TWE I H T HIC
(1) (AHIV), (B)(IL), (O)(1), (D)-(1)
(2 (A)HD), (By(II), (O)-(Im), (D)-(IV)
(3)  (A)HID, (B)-(D), (O)-(1), (D)-(IV)
(4)  (A)-(1m), (B)«ID), (©)-1), (D)-(IV)

Question Number : 60 Question Id : 5330722272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Self-reliance in ]jteracy and numeracy coupled with awareness of and parlicipa[inn in a wide
range of development and welfare activities,” is known as -

(1) Basic literacy

(2) Functional literacy

(3) Social literacy

(4) Developmental literacy

Question Number : 60 Question Id : 5330722272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“oreman IR HEAEE T A F e e 3TN FeaeR FrEsRA o SAT9E &1 W H gl

i 3o gfawfar’’ @ Feer & ?
(1) SR |

(2) HTETCHER T

(3)  ETHITSTER HI&T

(4) TorRMETCAE WA

Question Number : 61 Question Id : 5330722273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Based on his research, Jean Piaget introduced a developmental sequence in concept formation. In
this research he examined this process in

(1)
2)
(3)
4)

Adolescent
Senior adults
Children
Adults

Question Number : 61 Question Id : 5330722273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YA Y F STHR R 51 Toarst = sraeron fFaio | fosmareres sty &1 O3 %= 5 | 38 My § 36

(1)
2)
3)
(4)

——

T 39 kA o e

fepait

3 Ui
ElGED
e =Af

Question Number : 62 Question Id : 5330722274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Based on the research studies involving the brain and learning indicate which one of the following
statements is true ?

(L)
2)
3)
4)

The human brain is the biggest brain.

Damage to the brain is permanent.

Some people are more ‘right brained’, and others are more ‘left brained’.
Children all over the world can and do learn two languages at once.

Question Number : 62 Question Id : 5330722274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tferer 37T aferm sl vy W e F SR W sfee wifaft fF freifea § § 9 o %o w8

€7

(1) WM witaes gad 98] s ¢

(2) wfETer #1 g% wfa (Swefa) T & 7

(3) Fo @R iy den Cfet o o uftess ! arel @ off iR o Safadl | e SR
iteqer'" et @l Sl HWe s off |

(4) o fava F e gia <1 e g ek € S dEd off €

Question Number : 63 Question Id : 5330722275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lok Shiksha Samsad (People’s Education Council) was initiated by -
(1) Swami Vivekanand

(2) Mahatma Gandhi

(3) R.N. Tagore

(4) Dr. B.R. Ambedkar

Question Number : 63 Question Id : 5330722275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § 9 frgm e foen oftg (foew wserem #ifaa) =1 wece o an?

(1) T fassE=

(2) T e

(3) RTA TR

(4) = LR SFEEFT

Question Number : 64 Question Id : 5330722276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the learning strategies in sequential order -
(A) Planning and focusing attention

(B) Organizing and remembering

(C) Comprehension

(D) Cognitive monitoring

(E) Practice

Choose the correct answer from the options given below :
(L E®), (D) (O, (B), (A)

2 (@A), (B), (D), (O) (B)

3) (A, (B), (Q), (D) (E)

(4)  (B), (A), (D), (O), (E)

Question Number : 64 Question Id : 5330722276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SRR Al Rl ST H HAd e
(A) BT ST SR A Hehfga T
(B) SR 3R TR0 Al
(C) =y (H93)
(D) HIHEHE TR
(E) 199 &l
= feu o fasedi § | QE I F T FITAC

(1) (E). (D), (©) (B), (A)
(2 (A) (B), D), (O (E

) ) )
@) (A, (B), (©). D) (E)
@) (B (A), D) (©) (B)

Question Number : 65 Question Id : 5330722277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al'range the fDllowing 5Es, as the phases of constructivist lea_rn_ing -

(A) Engage
(B) Explore
(C) Explain

(D) Elaborate
(E) Evaluate

Choose the correct answer from the options given below :
(1 @A), (B), (©), (D) (B)
2@ (), (D) (&), (B), (O
(3)  (B), (C) (E), (A), (D)
(4) (D) (A). (B), (E), (O)

Question Number : 65 Question Id : 5330722277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TeAmETel (fAfdfeardt) siferm 1 srazensti % s feefafad 5 B @ gegafea i
(A) TS (Engage)

(B) WA (Explore)

(C) WHISH (Explain)

(D) FelIE (Elaborate)

(E) BoeUe (Evaluate)

=i feg T feshedi W H W& S A = H
(1) {A), (B), (©), (D), (E)

(2 (E), (D) (A), (B), ()

3) (B) (©), {E) (A), (D)

4) (D) (A), B), (E), (O
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Question Number : 66 Question Id : 5330722278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which type of teaching style is not related with adult learning ?
(A) Didactic teaching
(B) Socratic teaching
(C) Facilitative teaching
(D) Experiential teaching
(E) Play way method
Choose the correct answer from the options given below :
(1) (A) and (B) only
) (C) and (D) only
(3) (B) only
) (B) and (E) only

Question Number : 66 Question Id : 5330722278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa & & forg wem =1 fram deft tig stfrm | Hafua 78 82
(A) werHTeHS e

(B) ekl foratm

(C) Hfeemaer forem

(D) eArgverEs foerm

(E) sy

= feu mu fomredi § 9 W& 3T A =TI FH

(1) e (A) 3R (B)

(2) @@ (C) 3R (D)
(3) & (E)
(4) e (B) 3R (E)

Question Number : 67 Question Id : 5330722279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to Erik Erikson’s stages of psychosocial development, which stages are related with
adulthood.

(A) Basic trust v/s basic mistrust

(B) Initiative v/s guilt

(C) Identity v/s role confusion

(D) Intimacy v/s isolation

(E) Ego integrity v/s despair

Choose the correct answer from the options given below :
(1) (A) and (E) only

(2) (B) and (D) only

(3) (D) and (E) only

4) (O, (D), (E) only

Question Number : 67 Question Id : 5330722279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ufteh Uit % AER, wArEmEiee e w5 frefafaa sremensdi § | deaten § Yt stz & 9t
€7

(A) W& favamm a9m g sfEverd

(B) B M YUY 9

(C) Afeal s yfFem Afqyw

(D) &AreHtgar 9 fordsH

(E) 3T Whed I e

=1 fou o fasedi § 9 WE IR F =TI FIGC
() 3 (A) 3R (E)

(2) 9 (B) 3 (D)

(3) e (D) TR (E)

4) =@ (O), (D) ¥ (E)

Question Number : 68 Question Id : 5330722280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - II

(Concept) (Key Person/Expert)
(A) Andragogy ()  John Dewey
(B) Critical literacy (II)  Malcom. S. Knowles
(C) Experiential learning (III) Paulo Freire
(D) Each one teach one (IV) Frank C. Laubach

Choose the correct answer from the options given below :
(1) (A0, (B)-(ID), (O)II), (D)-(IV)
(@) (A)-(IV), (B)-(IIL), (O)~(1I), (D)-(I)
() (A)-(ID, (B)-(ID, (O)-(1), (D)-(1V)
(4) (A1), (B)-(0), (O(IL), (D)-(1V)

Question Number : 68 Question Id : 5330722280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 1 % WY gt - 1 = frerm s

et -1 et - 11
( HemedT ) (v =afe / favias)
(A) g (D
(B) W WIS () HoFn T, Aed
(C) v sfers (II1) 931 Y
(D) W& TH-TEH TH (Iv) e 9. dae

9= fau o fawredi § 9 WEr ST & I94 FAT
(1) (A)-(D), (B)-(II), (C)-(III), (D)-(IV)
(2)  (A)IV), (B)-(IIL), (C)-(1D), (D)-(I)
(3)  (A)-(I), (B)-(1D), (C)-(D), (D)-(1V)
4)  (A)-(I), (B)-(1), (O)-(IIL), (D)-(IV)

Question Number : 69 Question Id : 5330722281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following programmes on women'’s development in chronological order :
(A) Swadhar Grih

(B) Nirbhaya

(C) Padhao Scheme

(D) Working Women’'s Hostel

(E) Ujjwala

Choose the correct answer from the options given below :

(1) (D) (©) (E), (B), (A)

2 D) (A), (©) (E) (B)
(3) (D), (B), (B), (A), (O)
@) (D) (B), (O (E) (A)
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Question Number : 69 Question Id : 5330722281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffafeas wfeen famm wrwEt 1 Femsn § =i Fi

(A) TR TS
(B) Tasfan

(C) st AT

(D) RIHFTS Aigel SHEM
(E) Sesael

== fau o fawmedi ¥ 9 WE I F F99 FHifAC
(1) (D). (C) (E), (B), (A)
(2) (D), (A), (C), (E), (B)
(3) (D). (B), (E), (A), (O)
4) (D), (B), (), (E), (A)

Question Number : 70 Question Id : 5330722282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the gnal under sustainable development gnals covering quality education for l'Lfelong

learning.

(1) SDG 8
(2) SDG 4
(3) SDG 3
(4) SDG 5

Question Number : 70 Question Id : 5330722282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freafafiaa ® 9 39 Gunoiy faswm e 1 faeifed Hifee s stad o= st o fore qqorermgol fasr |
Haifed © 7

(1) GUROg faswe @5g 8

(2) GHROg fawy @eg 4

(3) HuRUiE fawmy @5 3

(4) HuRUiEg faewy @84 5

Question Number : 71 Question Id : 5330722283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reproductive Child Health (RCH) programme of the Government of India deals with the following
Group.

(1) Women and child

(2) Only women, pertaining to their health

(3) Only infants

()

Pregnant women

Question Number : 71 Question Id : 5330722283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A HERR 1 YoM aa W (furefea anes eod) (RCH) FEsd fFafafed § & fra g 9
Heifed 87
(1) wfee Te wds

(2) e Ao @ReT § Hafed
(3) e fag
(4)  Tefer wfegen

Question Number : 72 Question Id : 5330722284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify which one among the following is professional and social ethics.
(1) A set of the government rules

(2) A setof only legal rules

(3) A setof family rules

(4) Ethical guidelines for a specific society and a profession

Question Number : 72 Question Id : 5330722284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § § smemfas vd amifas =R #6918 2
(1) |eRAl faH = 9=

(2) Faa fafus fFadt 1 ag=
(3) ftenfier ! = aq=
(4) fafore T st sgaEm F fau srar-ged feom-fdu

Question Number : 73 Question Id : 5330722285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following courses is started under National Education Policy 2020 for value
based education in higher education ?

(1) Value addition courses
(2) Value judgement courses
(3) Family value courses

(4) Discipline centric courses

Question Number : 73 Question Id : 5330722285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= e H gow anenfia foven 3 foro kg foren e 2020 % et frafafag & § @0 @ weTEy
SRy feram a1 ?

(1) &g 949 STy

(2) Hea Fofg gisEA

(3) OIRETEF e SRy

(4)  STAYTEA hfd UISAhH

Question Number : 74 Question Id : 5330722286 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Arra_nge the fU]lijng in sequential order of the various 1'ighl5 and programimes started for the
third gender.

(A) NALSA Judgement of the Supreme Court

(B) Constitutional Right to Equality under Article 14
(C) Transgender Protection of Rights Act

(D) Transgender Protection of Rights Rules

(E) Criminal Act during British Period

Choose the correct answer from the options given below :
1) (@), (B) (A), (D) ©

@ (B, (B) (A), ©), (D)

@) (O, (D) (B), {A) (E)

4) (A, (B), (©), @), (B)

Question Number : 74 Question Id : 5330722286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa o€ sier & fou iy fafy= sifusri iR FrEH #t oy o srafea Hifa
(A) SoIaH AT 1 A (NALSA) Fom

(B) =% 14 % SdTid WA o1 HaAHIR AR

(C) giesiet SifHeFr HY&

(D) ZrESET AfHER e 9w

(€) fafes wa & A sTofees w1

A feu g faepedi & | W@ I = HS

(1) (E), (B), (A). (D). (O

@ (E), (B) (A), (O, (D

) )
@) (©), (D) (B), (A), (E)
4) (A (B), (©), (D) (B)

Question Number : 75 Question Id : 5330722287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Population Education provided major emphasis on certain areas. Identify the areas emphasised.
(A) Gender sensitivity

(B) Housing for women

(C) Care of adolescents

(D) Informed choice

(E) Old age home

Choose the correct answer from the options given below :

(1) (A) and (E) only

() (B) and (D) only

(3) (A) and (D) only

(4) (A) and (C) only
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Question Number : 75 Question Id : 5330722287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SEEA e A R & W fov 5 femn €2 we fasew g
(A) ©AfieR GogAeieral

(B) Wifgensii & ferg sAremeH

(C) fremdi =t T@ae

(D) W= ferhed

(E) F&EH

= feu o fawredi W | WE I 1 =TI FIfAU

(1) e (A) 3R (E)

(2) @ (B) R (D)
(3) @E (A) 3R (D)
4) e (A) 3R (Q)

Question Number : 76 Question Id : 5330722288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Select the programs started under the National Policy on Senior Citizens 2011.

(A) Integrated program for older persons

(B) Indira Gandhi National old age pension scheme

(C) Family pension scheme

(D) Smart club yojna

(E) Garmia Grih

Choose the correct answer from the options given below :
(I) (A) and (B) only

(2) (A) and (E) only

(3) (B) and (E) only

(4) (C) and (E) only

Question Number : 76 Question Id : 5330722288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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aftes ATt Haet T Hifd, 2011 g1 fF=fafea wEET omy 5 ™ 81w foskey 9f 4
(A) I AfFdl & fou gafed Frew

(B) Efew M W g3 wafa Yew Ao

(C) wiftenfler (Fga) YoM Frem

(D) ML Fd Al

(E) TCa T

= feu U forredi § 9§ W& 3T A =TI FY

(1) e (A) 3R (B)

(2) = (A) 3R (E)
(3) @ (B) 3N (E)
(4) EE (C) ¥R (E)

Question Number : 77 Question Id : 5330722289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(A) Paulo Freire (I) How Adults Learn
(B) Soren Elerus (II) European Networking of Lifelong Learning
(C) Malcohm Knowels  (IlI) Pedagogy of the Oppressed
(D) Evan [llich (IV) De-schooling Society

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(1D), (C)-1), (D)-(IV)
(2)  (A)-(IV), (B)-(1D), (C)-(I), (D)-(III)
(@) (A, (B)-(D), (O-(1V), (D))
(4)  (A)-(I), (B)-(IT), (O)(I), (D)-(IV)

Question Number : 77 Question Id : 5330722289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T - 1 % T G - 1o e st

T - 1 T - 11
(A) IZeln WL () o USeeH o
(B) Wi werw (1) FUfo=a Feafd A argwen A
(C) HowhH Ared (III) =P &% § e
(D) = sfer= (V) El-wxfem S

e fou U fasredi § § W& ST F 991 FHI90
(1) (A)-(Im), (B)IL), (O)-(1), (D)-(IV)

(2)  (A)-(1V), (B)~(ID, (O)-(L), (D)~(1)
(3) (A)-(1D), (B)-(I), (C)~(1V), (D)-(I1I)
(4)  (A)-(D), (B)-(IT), (C)~(III), (D)~(IV)
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Question Number : 78 Question Id : 5330722290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who said “Extension is a process and program of helping village people increase their production
and raise their general standards of living” ?

(1)  Dr. Cart Taylor

2)  Dr. D. Ensminger

3)  Dr. John Dewey

4) B.F. Skinner

— — p—

Question Number : 78 Question Id : 5330722290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa & 9 forment oA © 6, ' war orefior <l <6t et skt wishan iR R 8, 7 7 Icaed |
gfig a1 396 T SaA T H M O H Hers ol 2

(1) =i &l Zer
(2) E. €l TmEr
(3) @ =i fedt

(4) uE R

Question Number : 79 Question Id : 5330722291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Curriculum is the means to realize the outcomes of the educational objectivities of
(1) Student

(2) Teacher
(3) Parents
(4) School

Question Number : 79 Question Id : 5330722291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U=t TAeifeRd o ifarer Seva o IOy 1 WA’ T 6 9EE ©

(1) fommedf
(2) HEIE
(3)  HAwn-foe
(4) femmem

Question Number : 80 Question Id : 5330722292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Co-curricular Activities generally deal with -
(1) Inside classroom
) Out side classroom
(3) Inside and outside classroom
) Only for teaching in class by teacher

Question Number : 80 Question Id : 5330722292 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Te-reT=al nfafafiar s et @ gafa £

(1) &l & Hid

(2) & H A

(3) o o IR TE aret

(4) Toarer R et =req  faam

Question Number : 81 Question Id : 5330722293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Dewey

“Activity centered curriculum is a

(I) Rigorous training at field level

(2) Classroom teaching by teacher

(3) Homework assignment

(4) Learning by doing

Question Number : 81 Question Id : 5330722293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et & STTER
" dfopa-cplga deTEdl 1"
(1) &% W ged g

(2) STEATIE BRI R T AT
(3) e FHTRM
(4) = % weEm ¥ safrm

Question Number : 82 Question Id : 5330722294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Major parts of teaching plan are :

(A) Content

(B) Evaluation

(C) Learning experience

(D) Objectives

(E) Teaching aids

Choose the correct answer from the options given below :
(1) (A), (D), (B), (E), (C)

(2 (B), (A), ©), (D), (E)

3) D) (A) ©), (E), (B)

(4) (A, (B), (©. (D), (E)

Question Number : 82 Question Id : 5330722294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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foreror s 3 WE 9 E

(A) Torm =g

(B) WA

(C) e V=

(D) =¥

(E)  =1eAma gnyit

e feu T foeredl & 9 T S = F
(1)  (A), (D), (B), (E), (C)

(2 (B), (A, ©, D). (E

) ). (E)
@) ©O) (A), ©), (B) (B)
() (A) (B), (©), (D), (B)

Question Number : 83 Question Id : 5330722295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Curriculum development is a process of i_mproving the curriculum. The sequence of this process is

(A) Reviewing the curriculum

(B) Selecting appropriate teaching and assessment methods
(C) Analysing learner needs

(D) Formatting of curriculum

(E) Designing objectives

Choose the correct answer from the options given below :

1) (A), (B), ©, O) (E)

2 (@), (B), (O, (D), (A)

(3)  (©). (E) (B). (D), (A)

#) (&) (©), D), (B), (E)

Question Number : 83 Question Id : 5330722295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=t foepry et ® gur 5 ufEe ¥ o oy uftkan & T ¥
(A) el = YAt

(B) THHER AT IR Youisk fafedi 1 ==m

(C) “AfermHeRdl 1 SEvFRas & favero

(D) =l fmio

(E) Ze¥a o1 sfushey TR T

= feu mu fomredi § & W& ST A =T2E F

(L (A), (B). (O). (D), (E)

2 (©), (B), (O) (D), (A)
@) (©), (E) (B) (D), (A)
#)  (A)(©), D), (B), (E)
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Question Number : 84 Question Id : 5330722296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the most appropriate points to be considered while planning a curriculum ?
(A) Student psychology

(B) School environment

(C) Identity issue/needs/ problems

(D) Description of Indian philosophy

Choose the correct answer from the options given below :

(I) (B) and (A) only

(2) (A) and (D) only

(3) (A)and (C) only

(4) (C) and (D) only

Question Number : 84 Question Id : 5330722296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fopelt Iresr=rat &1 drs 9 & % ¥ faame waifus suga fag aR | €2
(A) foendt 1 e

(B) Ter=mem™ =1 araERg

(C) EaH Hetfl T/ ServaRan/ THE

(D) YR g9 =t A=

A few o faedl & & T I H T Hif

(1) 9 (B) 3R (A)

(2) = (A) ¥R (D)
(3) A (A) &I (C)
(4) = (C) ¥R (D)

Question Number : 85 Question Id : 5330722297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is essentials for effective teaching ?
(A) Lesson plan

(B) Good communication skill

(C) Administration

(D) Location of the school

(E) Learner’s psychology

Choose the correct answer from the options given below :
(1) (A) and (D) only

(2) (€) and (E) only

(3) (A), (B), (E) only

(4) (C), (D), (E) only

Question Number : 85 Question Id : 5330722297 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

el 31T & 3ifaE T FAfra H @ FR 9 €2

(A) IS TSl
(B) ST HYYY] HIETA
(C) wemEA

(D) formarem =1 safeafa

(E) efermeral =l wefa=m

= feu o fawredi W | WE I F =TI FIfAU
(1) & (A) 3R (D)

(2) FEA (C) 3 (E)
(3) = (A), (B) 3R (E)
(4) = (C), (D) R (E)

Question Number : 86 Question Id : 5330722298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(A) John Dewey (I)  Education and National Development
(B) Prof. Yashpal () De-schooling Society
(C) Kothari Commission (II) Activity Centred Curriculum
(D) Ivan Illich (IV) NCF-2005

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(IL), (O)II), (D)-(1V)
(2)  (A)-(IV), (B)-(1LI), (C)-(IT), (D)-(T)
() (A)-(II), (B)-(IV), (O)-(D), (D)-(IN)
(4)  (A)-(1), (B)-(1V), (O)-(I), (D)~{IL)

Question Number : 86 Question Id : 5330722298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
et - 1 it - 11

(A) A el (I) USRI UUE HYHe SaadHe

(B) . =TI (I) €T TR GramEe (TSt ol The T &)
(C)  HISH STHEmT (1) tfefafe Heg wigan

(D) zaM gfe= (IV) TA & TF - 2005

(TfZa qreT=a ¥4 3@ - 2005)
= fou e fasredi § § W& 3R FEH FHIfAC ;
(1) (A1), (B)-(II), (O)~(11D), (D)-(IV)
(2)  (A)AIV), (B)~(IT), (C)~(ID), (D)-(I)
(3)  (A)-(I), (B)-IV), (O)(L), (D)-(IL)
@) (A1), (B)-(IV), (O)-(1), (D)~(111)

Question Number : 87 Question Id : 5330722299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

is the process of imparting or i_nﬂ'easi_ng knowledge or skill of an emplnyee to do a
particular job.
(1) Motivation

(2) Development
(3) Leadership
(4) Training

Question Number : 87 Question Id : 5330722299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fordt = g0 fordt = fas =1 %00 & T3 39 99 o1 #ivel e o 9l §

(1) =g
(2) fo=mrg
@) g
(4) wfomeT

Question Number : 88 Question Id : 5330722300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the primary goal of a public-private partnership ?

(I) To eliminate the role of the public sector in infrastructure development

(2) To provide exclusive benefits to the public sector

(3) To maximise profits for the private sector

(4) To create a mutually beneficial collaboration between the public and private sectors

Question Number : 88 Question Id : 5330722300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR - i TTEer o1 Wi @eg #9  ?
(1) eraEra fow o 9eRrl &5 %1 i gare &

(2) TTERT & F A T Y Al
(3) TASi &5t % ey i SAfuRTH a@m
(4) TTERT TR el &l & 7o O YRRl Tedn i ged

Question Number : 89 Question Id : 5330722301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The combination of peer, seniors, subordinate and self-review appraisal is known as -
(1) Feedback

(2) All round review

(3) 360° appraisal

(4) Human resource accounting system

Question Number : 89 Question Id : 5330722301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TrReit Safal, s i, s w3 STen- e qeaiE F Gae Fedrd ¥
(1) wfagfe

(2) ek |Hte
(3) 360 feufl gearsA
(4) HIHE GHEA TR JOTe!

Question Number : 90 Question Id : 5330722302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The process of familiarising the new employees to the organisation’s rules and regulations is known

as :

(1) Placement
(2) Induction
(3) Recruitment
(4) Selection

Question Number : 90 Question Id : 5330722302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

79 frgem i ot wed & fraw o fafram 9 stera T & gfshan werem © ;

(1) =

(2) Y=
3)

4) =7

Question Number : 91 Question Id : 5330722303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the steps in on-the-job training in sequential order :
(A) Follow-up
(B) Do a tryout
(C) Present the operation
(D) Prepare the learner

Choose the correct answer from the Dpt'ums given below :

1) D) (A) (B), (©)

2 ©) (B), ©) (A)
3 @A) (B), (©) (D)
@) O (©), (B) (A)

Question Number : 91 Question Id : 5330722303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HarrTer i o frfafa |aEi 6 e § et $if
(A) STgedl T

(B) WANT % A 9 3TN

(C) s =1 wefa

(D) AfermHeRal i TER FEA

= feu o fasedi § T WE IR F =TI FGC

(1) (D). (A) (B), (C)

2 (D) (B), ©), (A)
@) (&) (B), (C), (D)
4 (D) (©), (B). (A)

Question Number : 92 Question Id : 5330722304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ADDIE is the standard five-step training process model. Which step is not included in ADDIE ?
(A) Design

(B) Implement

(C) Analyse

(D) Evaluate

(E) Disseminate

Choose the correct answer from the options given below :

(1) (D) Only

(2 (O Only

(3) (E) Only

(4) (A) and (B) Only

Question Number : 92 Question Id : 5330722304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TEl (ADDIE) WHeh T=-HaTfek Uf¥ieqor giehan wigd €1 U2 # & |1 9ae wmira 76 €2
(A) AfyeRey

(B) fwar=A

(C) fargeram

(D) AT

(E) WER

e feu T foeredl & 9 T I = F
(1) = (D)

(2) e (C)

(3) = (E)

(4) = (A) 3R (B)

Question Number : 93 Question Id : 5330722305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The third dimension of Higher Education is known as :
(A) Research

(B) Teaching

(C) Dissemination

(D) Outreach

(E) Extension

Choose the correct answer from the options given below :

(1) (D) Only

() (C) Only
(3) (A) and (B) Only
(4) (E) Only

Question Number : 93 Question Id : 5330722305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T T o g oW % w9 H feifoRd o1 S S €

(A) TFEIYH

(B) foreqo

(C) wER

(D) 9o

E) for

4= fou o fawredi § 9 WE S F 999 FifA
(1) = (D)

(2) %=d (O)

(3) e (A) #R (B)

(4) e (E)

Question Number : 94 Question Id : 5330722306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Indian Adult Education Association dedicates itself to serve the people of country in the great
tasks of :

(A) Achieving universal functional literacy

(B) Promoting lifelong continuing adult education

(C) Moving towards the goal of achieving learning society
(D) Promoting individual wealth

(E) Promoting scientific temper

Choose the correct answer from the options given below :
(1) (A), (B), (O) Only

@ (A), (O, (D), (E) Only

(3) (C), (D), (E) Only

(4) (A), (B) (C), (E) Only

Question Number : 94 Question Id : 5330722306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I dig faen 9 3 AT ST W A F Fan ¥ ferv Frafofaa e wwf ¥ wufta fEw
(A) WEATHE FEfaTH Q&I % A&l Y FwA
(B) SireH T waa Wig foren =1 dreged &

(C) @Iferm WS 1 Wi & @87 F AR TS
(D) SfFTa ¥4 Hadd e

(E) SIS TTel 1 Heleid st

= feu o fashed § 9 Qe W FH F99 HIAC ;
(1) = (A), (B) 3R (C)

(2) &=E (A), (©), (D) 3R (E)

(3) a9 (C), (D) IR (E)

(4) e (A), (B), (O) ¥ (E)

Question Number : 95 Question Id : 5330722307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Concept) (Description)
(A) Analysis (Iy  from the parts of the learned material making new material
(B) Ewvaluation (II)  separates important from unimportant
(€C) Synthesis (II) judging the value of the learnt material
(D) Application (IV) applying learnt material in new situation

Choose the correct answer from the options given below :
(1) (A)-(), (B)-(ID), (C)-(1), (D)-(1V)
(2)  (A)-(I0), (B)-(II), (O)-1), (D)-(IV)
(@) (A)-(I), (B)-(IT), (O)-(IL), (D)-(IV)
(4)  (A)-(IV), (B)-(IID), (C)~(1), (D)-(I)

Question Number : 95 Question Id : 5330722307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
Tt - 1 Tt - 11

( 3T ) ( =T )
(A) Tegeram (1)  sfeETia S | 74 e i e
(B) TEHIEHA (I) WE@EY agdl ] Hewoel sagal 4 Yok el
(C) Hveiyo (111 =Afeifae 9l o geg o s H o
(D)  ergAm (V) & feafa ¥ sifemfoa wmnh 1 e

= fou e fasredi § § W& 3R FEH FHIfAC ;
(1)  (A)-(1m), (B)-(ID), (O)-(I), (D)-(IV)
(2) (A1), (B)-(1LI), (C)-(1), (D)-(IV)
(3)  (A)-(), (B)y(L), (O)-(IL), (D)-(IV)
(4)  (A)-(1V), (B)-(1L), (C)(L), (D)-(IL)

Question Number : 96 Question Id : 5330722308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[nterpersonal Communication refers to :

(1) Communication between one group to another group

(2) Face to face communication between two people
(3) Exchanging ideas among group
(4) Speaker, speech and audience

Question Number : 96 Question Id : 5330722308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ia: Safares i 1 aerd freifea § 9 fFag €
(1) T H9E AN gH ¥4 & He HaN

(2) < % T SHHA-EHA STl
(3) THE % 7 o=l #1 SeH-9eH
(4) =T, = S AT (STE)

Question Number : 97 Question Id : 5330722309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who said “the sole purpose of communication is to influence’ ?
(1) Howland

(2) Legans
(3) Aristotale
(4) Berlo

Question Number : 97 Question Id : 5330722309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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" T =T U 1T ESH wYifed we e

T FeA fifra o O e 22
(1) @iz

(2) <=

(3) ufeie

@) =l

Question Number : 98 Question Id : 5330722310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who said “Communication is a first principle in philosophy” ?
(I) Woodzaw W. Sayree

)  Warran Weaver
(3) Robert Goyer

) Gerald Miller

Question Number : 98 Question Id : 5330722310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“ gy SiEeRT W Yeen g g1

T e fAeifeRa ° | e 2 2
(1) g=u T woEd

(2) @RA dET

(3) e AT

(4) “ueE fAer

Question Number : 99 Question Id : 5330722311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The word communication originates from the word :
(1) Communi

(2) Commuenis
(3) Communicate
(4) Common

Question Number : 99 Question Id : 5330722311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FHHIT (Communication) I6% %l Iedfa foFe wez & g2 82

(1) Communi

(2) Commuenis
(3) Communicate
(4) Common

Question Number : 100 Question Id : 5330722312 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

In the field of Adult Literacy, Transfer of Technology (ToT) means :
(1) Use of ICT in Extension Education

2

(2) Local Area Nerwork
(3) Extension activities and orientation

(4) Taking a new idea/procedure/product to farmers

Question Number : 100 Question Id : 5330722312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T W& o & H U] o1 exaiaeon (T 3iTE Soetst) & e
(1) WHR FFEH H &% 9 2 % ghm

(2) ke T Jeeeh
(3) WUR FEEwaM™ iR rfifamg
(4) FuHI TF T fomR/ wlEA/ S TeAr

Question Number : 101 Question Id : 5330722313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following as per the Shannon-Weaver model of communication.
(A) Transmitter

(B) Signal
(C) Destination
(D) Source

(E) Receiver

Choose the correct answer from the options given below :
(1) (D) (A), (B), (E), (O)

(2)  (A), (B), (O), (D), (E)

3) (B, (B), (O) (D), (A)

(4)  (©), (A), (B), (D) (E)

Question Number : 101 Question Id : 5330722313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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feAifeRa ol ITA-die] o F9R Aigel % STTHN SHaferd Fifor |
(A) ZIEH (9ERF)

(B) Taw@ (Hehae®)

(C) Efem (Tiasg o)

(D) 9 (&)

(B) fadaw (uferet)

e feu o foreredl & 9 T ST = FE
(1) (D), (A), (B), (E). (O)

(2) (A), (B), (C), (D). (E)

(3) (B), (B), (O), (D), (A)

4) (), (A), (B), (D), (E)

Question Number : 102 Question Id : 5330722314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the communication model in proper sequence :
(A) Receiver

(B) Channel

(C) Sender

(D) message

(E) Treatment

Choose the correct answer from the options given below :
(1) (©), (D), (E), (B), (A)

(2 (@A), (B), (Q), (D) (E)
(3)  (E), (O, (D), (B), (A)
(4) (B), (A), (O, (D) (E)

Question Number : 102 Question Id : 5330722314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Haw Hied 1 Y § smfiem Fifa ;

(A) fEER

(B) e

(C) Wh

(D) Hew

(E) HeHARR (dr2Hz)

== feg g ferped # | W& I A =T e
1) (©), (D), (B), (B), (A)

2 (A),(B), (©), (D), (E

) ), )
(@) (), (O (D), (B), (A)
(4) (B, (A), (O, (D), (E)
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Question Number : 103 Question Id : 5330722315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps in development of communicator-communicatee relationship in sequential order-
(A) Homophily - Heterophily

(B) Empathy and feedback

(C) Physical interdependence

(D) Orientation

(E) Credibility, interaction

Choose the correct answer from the options given below :
(1) (A). (B), (Q), (D), (E)

@ ®), (©), (D), (A) (B)

(3) (D) (B), (O), (E), (A)

4) (©), (D), (E), (B), (A)

Question Number : 103 Question Id : 5330722315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HUush — Gutufq oy % faeg § sfaie =i 1 3fq w0 § =afea wife
(A)  wHfeA, fawmfer (e, selitwe)

(B) Iy s wfyfe

(C) InfieR ST=ar=i 4

(D) sl

(E) Tovsgigal, amd=ia

e feu o foreredl & 9 T S = FE

(1) (A) (B). (©), (D). (E)

(2 (B), (O (D), (A), (E)
@) (D) (B), (O), (E), (A)
@) (©), (D) (E). (B), (A)

Question Number : 104 Question Id : 5330722316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(A) 1954 (I)  Cloude Shannon and Warren Weaver model of communication
(B) 1948 (II) George Gerbher’'s model of communication
(C) 1956 (III) OS Good model of communication
(D) 1949 (IV) Harold D. Laceweel model of communication

Choose the correct answer from the options given below :
(M (A)(D), (B)}(IL), (O)(IL), (D)-(IV)
(2 (A)-1V), (B)-(D), (C)-(I0), (D)-(II)
() (A, (B)-(IV), (O)-(D), (D)-(I)
(4)  (A)-(I), (B)-(I1D), (C)-(1), (D)-(IV)
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Question Number : 104 Question Id : 5330722316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 1 % W19 gt - 11 = fiers shifs
Tt - 1 T - 11

(A) 1954 () Fere 994 2R arA et =1 9=R Aiee
(B) 1948 (I) TSt T4 %1 AR Aied

(C) 1956 (II1) 31l ©g 7 &1 91 "ied

(D) 1949 (IV) &ee 21 o F1 99R "ied

= feu T faehedi © | W@ ST =EE H
(1) (AD), (B)(1), (O-(), (D)-(IV)
(2 (AIV), (B)-(D), (C)-(I), (D))
(@) (AL, (B)-(IV), (OH1D), (D)-(1)
@)  (A)ID, B)-1D, (©)-0), (D)-(IV)

Question Number : 105 Question Id : 5330722317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following objective was covered when the second phase of Doordorsham expansion
started ?

(1) For Promoting Community Radio in 1985

(2) Switch to colour transmission for international community in 1982

(3) To link with Asian Games in India in 1984

(4) To promote local coverage in 1985

Question Number : 105 Question Id : 5330722317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEYH F TOR T T SRY 21 W feifed § | R sty 1 ufd o we T e ?
(1) = 1985 ¥ FHEr Wear &1 ag@r &

(2) a9 1982 H AW GHEE & fau ser (TF) JER0 H S
(3) =9 1984 H 9Id H B Al TREE well ¥ ST
(4) 99 1985 H THE FALS I FErE S

Question Number : 106 Question Id : 5330722318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following states mentioned below does not use the term “Education Guarantee scheme”
for Alternative learning ?

(1) Andhra Pradesh

(2) Orissa
(3) Uttar Pradesh
(4) Maharashtra

Question Number : 106 Question Id : 5330722318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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iR W | =9 T W Sefegs stfrm’ o o | faen e = S wE Tel o © 2

(1) 1y 9e9
2) =S

(3) W UL
(4) TR

Question Number : 107 Question Id : 5330722319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

is a salient feature of New India Literacy Programme (2022-2027).
Use of technology to impart adult education for wider coverage
Provide financial assistance to the universities
Provide honorarium to the instructors and the supervisors

P — — p—
e 2 .
R R et

Provide financial support to State Resource Centres in India

Question Number : 107 Question Id : 5330722319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 A HIGRA FEE (2022-2027) Ht A T €
(1) etk & stfier AR =Rl Aie fen wem %A = fore gt = 949

(2) Tovafaeradi =t fada gerEa ueH F
(3) TSR SR THGEER] 1 HESH YEH
(4) YRA W U9 HYHA ) o Ay qerd 9eH e

Question Number : 108 Question Id : 5330722320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which type of education is strengthened by satellite based communication INSAT-1A and
INSAT-1B ?

(1) Distance education in India

(2) Gender education in India

(3) Caste based discrimination in India

(4) Discrimination among the third gender

Question Number : 108 Question Id : 5330722320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST NG FaR T942-1 T 37R) 37821 off | Frifera # & forg werm o1 foren =1 wrsferet fiverdt &2
(1) YRa H g2 e gored

(2) WRa 7 SieY faen
(3) 9RE H wfa % YR R He9E
(4) o2 S F A YRvE

Question Number : 109 Question Id : 5330722321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the sequence that makes film a complex narrative.
(A) A film is written
(B) A film is enacted
(C) A film is photographed
(D) A film is recorded
(E) A film is edited
Choose the correct answer from the options given below :
(1 (@A), (B), (O, (D), (E)
(2)  (A), (©), (D), (B), (E)
3)  (A), (E), (D), (B), (O)
(4) (A), (B), (B), (D), (O)

Question Number : 109 Question Id : 5330722321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forelt fmew =t Sifeat (faramor) oM aret %9 3 <01 i 30 § SAafeerd e ;
(A) Toren =1 e fo S 81

(B) frem =1 sxfufma S

(C) fFem =1 wREATE B T

(D) forem =t fewfdn 3t 21

(B) foren o1 g T e 8

= feu mu fomredi # 9 W& ST A =TI FH

(1 (A) (B), (O, (D), (E)

(2 (&), (©), D), (B). (E)
@) (A) (B), (D), (B), (C)
4) (&), (B), (B), (D), (O

Question Number : 110 Question Id : 5330722322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How has digital technology impacted younger generation ?

(A) The wide spread of digital technology has a huge impact on student’s reading habits.
(B) Digital technology has adverse affect on youth.

(C) Digital technology is not youth friendly.

(D) Digital technology is against national interest.

(E) It makes changes is traditional habits of younger generation.
Choose the correct answer from the options given below :

(1) (A) and (E) only

(2) (A) and (B) only

(3) (A) and (C) only

(4) (D) and (E) only

Question Number : 110 Question Id : 5330722322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fesea drifmerl =1 gan Wl o 31 99E 9 € ?

(A) fefeea teifient & =amas gar 1 fonfefi & gen =it s1eq W g SIfis e 921 2|
() fefsea et 1 qaeli F @re W ufagd gume gear €

(C) fefses drenfreT gas-gay =& T

(D) fefsea drnfire e foa o fovg T

(B) 3HF BorLawy Ja1 el i WOIrTd eiedl § aftade g €1

= feu U fomredi § § W& 3T A =TI FH

(1) e (A) 3R (E)

(2) EE (A) IR (B)
(3) wEE (A) 3R ()
(4) = (D) 3R (E)

Question Number : 111 Question Id : 5330722323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the steps in Willimson’s approach to clinical counselling ?
(A) Analysis

(B) Time Management

(C) Synthesis

(D) Sympathy

(E) Laughter

Choose the correct answer from the options given below :
(I) (A) and (E) only

(2) (A)and (C) only

(3) (A) and (B) only

(4) (B) and (D) only

Question Number : 111 Question Id : 5330722323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Feifer T & Heuf # faferea-surm % fafu= smege feaifea § 9 wa 9 22

(A) foawergo
(B) HIEA-YEY
(C) Hyero
(D) WergHfa
®) @

e feu o foreredl & 9 T S F = FE
(1) o (A) 3R (E)

(2) @@ (A) 3R (C)
(3) & (A) 3R (B)
(4) = (B) 3 (D)

Question Number : 112 Question Id : 5330722324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following themes is covered Sustainable Development Goal - 6 ?
(1) Lifelong learning, quality education

(2) Water, sanitation and hygiene
(3) Poverty and hunger
(4) Environment and ecology

Question Number : 112 Question Id : 5330722324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafes § 9 #9 4 faug g fam @87 6 & siafa wfte €2
(1)  @rsiren fore, qorermgol faen

(2) o, Al SR WE-HEE
(3) T SR qEEd
(4) vEfeR SR ufiefae

Question Number : 113 Question Id : 5330722325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - II
(A) Teachers’ vision on traditionally (I)  Provide exercises to students so they can
important aspect practice skills and procedures
(B) Teachers’ vision on lifelong learning  (II) Arrange self accessed activities for students
(C) Teachers” vision on connetedness (IIf) Provide opportunities to collaborate with peers

(D) Connetedness with the teachers vision (IV) Collaborate with the fellow teachers
Choose the correct answer from the options given below :

(1) AHD, (B}-(ID), (O)-(), (D)-(IV)

(2 (A1, B)-(1), (©)-0), (D)-(1V)

(3) (A, (B)-1V), (O)-(11), (D)-(1)

#) (A1, B)-(), (O)-(11), (D)-(IV)

Question Number : 113 Question Id : 5330722325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 1 % WY gt - 1 = frerm s
Tt - 1 Tt - 11

(A) W gfte ¥ "l s & i () 3 fafefdl @ ey foan st € oifer & #oa
H AeATE i el A o o faferdl o1 o = wF

(B) Sited gdq A o 9 H STeATE (I foenfeai & forg T safymfia w1 gaeH
H g

(C) Heagdl & dR T 2R9F H1 g () F9eHe&TT BT § Hre=d o e 9a w

(D) STETT P TS g1 F S (IV) TeahHl STl % WY Tt g

= feu U foeredi © | WE I w1 F7H HIEC

(1) (AHD), (By-(ID), (O)-(Im), (D)-(IV)

(@) (A, (B)-(), (C)-1), (D)-(IV)

(3) (AU, (B)-(IV), (O)1D), (D)-(I)

(4)  (A)HID, (B)-(I), (O)-(ID), (D)-(IV)

Question Number : 114 Question Id : 5330722326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is common amongst NSDC affiliated organizations, AICTE affiliated organizations and senior
secondary schools ?

(1)  All of them deal with adult neo-literates
)
(3) All of them are delivery agents for skill development

(4) All of them give degrees for the university to which they are affiliated

All of them focus on main streamjng school dropouts

Question Number : 114 Question Id : 5330722326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A UH Y § | Harrd g §eHl, AICTE § Hasg wied! iR afte mreafie fommedt § fifea § |
I O & ?
(1) 3 gt e T9-weR e | Heafug €

) A [t faaem 3 5 gu o= TEE E S A WA 2d ¥
(3) 3 gt e faekm o foaro & )

(4) A T 39 foavafaacm =i feilt <0 € fowd 3 vag €

Question Number : 115 Question Id : 5330722327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is the founder of Self-Employed Women's Association (SEWA) ?
(1) Sarojini Naidu

(2) Kasturba Gandhi

(3) Ila Bhatt

(4) Indira Gandhi

Question Number : 115 Question Id : 5330722327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-t nfeen T (Far) =t Geemes feifea § § <H o ?

(1) wUfsH qmg
(2)  HEREan
(3) T WE

(4) gfew TR

Question Number : 116 Question Id : 5330722328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following enterprises are eligible for loans under MUDRA yojana ?
(1) Starting a school

(2) Starting a bakery and confecionary shop
(3) Starting a private bank
(4) Buying seeds for farming activity

Question Number : 116 Question Id : 5330722328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes & | %M o1 32m qg1 9e 3 Saria B0 e & foe edeE § 2
(1) e dre

(2) FF 3R TR H gHH G
(3) Tt oiek @i
(4) Fu-FE F fau =is F1 Tl

Question Number : 117 Question Id : 5330722329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following programmes in sequential order based on their year of commencement.

(A) Skill gurukul

(B) Jan Shikshan Sansthan

(C) Shramik Vidyapeeth

(D) Functional Literacy for Adult Women

(E) Farmers’ Training and Functional Literacy

Choose the correct answer from the options given below :
1 (©), (D), (B), (A), (B)

(2 (), (D) (©O), (B), (A)

() (A), (B), (©), (D), (B)

)  (B) (E) (©O) (D), (A)

Question Number : 117 Question Id : 5330722329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferiea rrimal i 37% TRY 8F % o9 & R W Tel ST H =Hafeed Fife
(A) e TEHa (Fere o)

(B) S fereqor Heemd

(C) gfues fammde

(D) Wre ufeensti = foTu Hrafenes Fafcs Had
(E) 9 FFOam 37 Fraicaer Hed

A= fau 7u foekedi # 9 WE 3T FUA R
(M) (©), (D), (B), (A), (B)

(2)  (E), (D), (O), (B), (A)

(3)  (A) (B). (), (D), (E)

(4) (B), (), (O) (D), (A)

Question Number : 118 Question Id : 5330722330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sector Skill Councils contribute to development of Natonal Occupational Standards in key skill

sectors in partnership with -
(A) Academia

(B) Labour

(C) Customers

(D) Government officials
(E) Industry

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only
() (B), (D)and (E) only
(3) (A), (B) and (E) only
(4) (O, (D) and (E) only

Question Number : 118 Question Id : 5330722330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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& e s (R fera wEfaer) feifra & 9 fFoeht 9RIed § e Fe &kl § U
SUSiifaeprer we fasrfad #07 # dreH <9 €

(A) o =i (RS 998)

(B) afmeE
(C) Teh
(D) TR FwH=AM /ST
(B) =@

e fou T fasredi § 9 W& TR F 959 FIfAC

(1) e (A), (B) 3R (O)
(2) Fad (B), (D) 3R (E)
w)%mmwwﬁ
(4) FFA (C), (D) 3R (E)

Question Number : 119 Question Id : 5330722331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

To which of the following beneficiaries does Jana Shikshan Sansthan (JSS) provide training at the
doorstep through NGOs ?

(A) Graduate level youth

(B) School dropouts

(C) Non-literates and neo-literates

(D) Individuals who have studied up to standard XII
(E)  School going children

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2)  (A), (B) and (E) only

(3) (C), (D) and (E) only

(4) (B, (O and (D) only

Question Number : 119 Question Id : 5330722331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freafafiaa § 9 fora enferi =61 5 foeron e TR-wer 9eAi o "y 9 9 % g W 9 geH
Ll © 7
(A) HEF T F gl
(B) & & whell foran Sreat S aret feramefi
(C) o7& 3R 79 Har
(D) W& &l ToF ohi UBR HL-am] Al
(E) %pd S drel o
4= feu 7o fawmedi § 9 WE I F T FIfSC
(1) e (A), (B) 3R (C)

(2) = (A), (B) 3R (B)
(3) = (C), (D) ¥R (E)
(4) = (B), (C) ¥R (D)

Question Number : 120 Question Id : 5330722332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under the Ministry of Skill Development and Entrepreneurship, Centre of Excellence can be
established in partmership with industry. The purpose of establishing such a centre will be :
(A) Give loan to entrepreneurs

(B) Train adult non-literates

(C) Address skill gaps and align training and research with industry needs

(D) Raise training standards

(E) Boost productivity

Choose the correct answer from the options given below :

(1) (C), (D) and (E) only

() (B), (O) and (D) only

(3) (A), (B) and (C) only

(4) (A), (D) and (E) only

Question Number : 120 Question Id : 5330722332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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vt T of et waeE & o7efi 3 o GRe | IaFtedl Fsl bl S S Wl 81 T
e F g Tefud fore S =1 e 2

(A) SEfaEl 1 B gea FE

(B)  STEIET Wig I WIeEror

(C) HIYE STaTel 3Rl g1 SR N 1 SAevaehal o STEY IiUeror SR oY i gaited He
(D) Wfe1eo o Tl FaEH

(E) ScIEehdl =l Sl

e feu o famedi § | WE I F =TI FIfAU

(1) == (), (D) IR (E)

(2) =4 (B), (C) 3R (D)

(3) = (A), (B) IR (O)

(4) e (A), (D) TR (E)

Question Number : 121 Question Id : 5330722333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

(A) Start up India (I)  Entrepreneurship support for women and SC-5T communities

(B) Stand up India (I) Promote India as a most preferred global manufacturing
destination

(C) Make in India (IfIy Transform India into a digitally empowered society and
knowledge economy

(D) Digital India (IV) Build a strong and inclusive ecosystem for innovation and
Entrepreneurship

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(I1), (O)(I1), (D)-(1V)
(2) (A1), (B)-(IID), (C)-IV), (D)-(0)
(@) (A, (B)-(IV), (O)-(D), (D)-(IN)
(4)  (A)-(LV), (B)-(I), (C)-(IT), (D)-(I)

Question Number : 121 Question Id : 5330722333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs

el -1 el - 11
(A) %IE 3 sfed () s SR Sg=a sfd - SAgiaa §H Siifd 9HeEl & fou safha
Herdl
(B) T 31 3fem (I) «RA = Falifuer ggaiel dfvees fafmio vasy & &g o fowmrfaa s
(C) u* = 3fea (Il1) e 1 FefSee - Tvea qoms SR TH-siefegaeen H gfEfda &
(D) fefses sfemn (IV) &g &R Sufagfa & o gy sir gwmEsh iids 1 fmio
FL

9= feu 7o fawredl § @ WE I F I99 FIfA0
(1) (A)D), (B)-(1), (O)-(11D), (D)-(IV)
(2  (A)-(1D, (B)-(1D), (C)-(IV), (D)-(I)
(3) (AL, (B)-(IV), (O)1), (D)D)
4)  (A)(IV), (B)-(D), (C)-(11), (D)~(1LI)

Question Number : 122 Question Id : 5330722334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(Institute/Council) (Cource)
(A) NCVT ()  Awards diplomas
(B) AICTE ()  Awards sector specific certificates
(C) Sector Skill Council (L) Awards degrees
(D) University (IV) Awards national trades certificates

Choose the correct answer from the options given below :
(1) (A)HD, (B}-(II), (O)-(II), (D)-(IV)
(2) (A1), (B)-(I), (O)-1), (D)-(IV)
(3)  (A)(IV), (B)-(1), (C)-(II), (D)~{IL)
(4)  (A)-(O), (B)-(IV), (C)~(11), (D)-(I)

Question Number : 122 Question Id : 5330722334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
et - 1 Tt - 11
(dwar / ulwe) (Cource)
(A) WA TS B U et giee uig () Tewm yeH Far €|
(B) sifaa wrda aarerl foren afteg (stwmfers) (1)  &=-fafere yamo o3 Sar 2
(C) &=k (HFe) S qRug (11) el wer o 2
(D) favafa=mea (IV) T 2 T 93 U= i & |
= feu U fosked # & W& IW FH/ T FITAC
(1) (AHD), (By-(II), (O)-(II), (D)-(IV)
(2) (A, (B)-(ID), (C)-@), (D)-(IV)
(3)  (A)-(IV), (B)(D), (C)-(II), (D)-(I0)
(4)  (A)-(I), (B)-(IV), (Q)-(1D), (D)-(I)

Question Number : 123 Question Id : 5330722335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

After Srivardhan was declared 100% literate a study was conducted to find out the impact of
women'’s literacy on their participation in Gram Sabha. What type of method is most suitable for

such a study ?

(1) Survey

(2) Experiment with experimental and control group
(3) Case study

(4) Historical analysis of documents

Question Number : 123 Question Id : 5330722335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e vraufaera Ter =it 8F o 91 U9 991 1 "feensdi & rieR! & a9 § ufect Temdr & 996 &

s T T 38 T % e F fow freifea | § i ot fafs watfs s €2
(1) &

(2) wrEfTeE Td A 9 % 9 W

(3) WO AT

(4) SEAEE 1 UfaRfad favemo

Question Number : 124 Question Id : 5330722336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A study was planned to find out the literacy levels in unregistered Bangladeshi migrants in Mumbai.

Which sampling technique will be most appropriate for this study ?
(1) Simple random sampling

(2) Stratified random sampling

(3) Snowball sampling

(4) Quota sampling

Question Number : 124 Question Id : 5330722336 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

g T Tforgied Seney Sy 3 Wier TRl T WAl oA 3 o stemmeE R i ATeE s
T 39 s & fom faeifra § 9 W O wfaeem wfafy waifs swe anft ?

(1) HH¥RY FRi==H gir=Ed
(2) wlFd Agfes® giaazd
(3) EAmEre Hid=as

(4)  wIE-gfqeaA

Question Number : 125 Question Id : 5330722337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

While Evalualj_ng ]_iteracy campaign of Cuttack, district data regeu'di_ng gender, caste, marital status
and residence of each respondent was collected. Identify the scale of measurement of this data.
(1) Nominal Scale

(2) Ordinal Scale

(3) Interval Scale

(4) Ratio Scale

Question Number : 125 Question Id : 5330722337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feek forel § Garferd Terar Sif9ar =1 Jodima &3 o A § Uodeh YoaTeil =i Siey, Sifq, darfes fefd
HR e o el <51 Heherd foRan 1 39 9 % WY % T ygE Al w6 e it
(1) A Sk ) |

(2) FH gHEE AIIA
(3)  SF=RIe HIHT
(4)  oF A

Question Number : 126 Question Id : 5330722338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The base for qualitative and quantitative research is :
(1) Steps followed

(2)  Applicability

(3) Degree of utility

(4) Type of Information

Question Number : 126 Question Id : 5330722338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U SR WA 98 1 SAIER R
(1)  ST9A 7T =1

(2) SEFES

(3) UM sl H

(4) AT A TR
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Question Number : 127 Question Id : 5330722339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Steps of qualitative research.
(A) General question
(B) Report writing
(C) Analysis and interpretation of data
(D) Collection of relevant data
(E) Identification of a problem
Choose the correct answer from the options given below :
(1) (A), (E), (D), (O), (B)
(2 (&), (B), (Q), (D) (E)
() (D) (E), (B), (O), (A)
4) (B), (A), (O, (D), (E)

Question Number : 127 Question Id : 5330722339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TOTEHR YT o =0 € ¢

(A) I U9

(B) Wit (fard) @A

(C) = = faverym iR sgsT =amen

(D) VTR &5 Hehed

(E) HHEI H TEH

= feu mu fomredi § § W& ST A =TI F
(1) (A), (B), (D), (O), (B)

2 (A (B), Q). (D) (E

) )
(@) (D) (E), (B), (C), (A)
() (B), (A) (©), (D) (B)

Question Number : 128 Question Id : 5330722340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Indicate the sequenece of chapter writing :
(A) Methodology

(B) Review of related literature

(C) Discussion

(D) Results and interpretation

(E) Introduction

Choose the correct answer from the options given below :
(1) (), (D), (E), (A), (B)

(@ (), (B) (A), D) (O

(3)  (A), (©), (D), (B), (E)

(4) (A), (B), (), (D) (E)
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Question Number : 128 Question Id : 5330722340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT THEA ST Rl AT Fifa
(A) ¥5f

(B) Helg Wifecd =i wHian

(©) foret

(D) 9o 3iR fe=m (=me)

(E) v

= feu T faehedi © | W@ S =EE H
(1) (©, (D), (E). (A). (B)

) (E) (B) (&), (D), (C)
@) (A) (©), D) (B) (E)

) (A).(B), (©), (D). (E)

Question Number : 129 Question Id : 5330722341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A comparative study of stress of male and female students of class IX in government schools of
Delhi has to be conducted. What will be the appropriate objectives for this study.
(A) To find out the scores attained by male and female students as per the scale used
(B) To study the influence of gender, residential background
(C) To study the interaction among male and female
(D) To compare mean scores of stress of male and female students of Delhi
(E) To study the correlation between stress of male and female students
Choose the correct answer from the options given below :
(1) (B) and (C) only
) (A) and (C) only
(3) (A) and (D) only
) (E) and (A) only

Question Number : 129 Question Id : 5330722341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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feeett o T fommerdl § Hidl Fen % arers 9 Sfcerstl & THE TR e S R S 2
3 S % fou wqugE Sev feifera § 9 = e
(A) e S aferapTeti gR1 A9 9 ST O TS WTeleh <61 Jal
(B) feim, ETER TRYfA % Y9E 1 A
(C) @eTh 3R aifcrral o Weg ST=1HaY &1 T2
(D) Tecelt & sas SR arfcrans & aAd & HEaH Tdichl b1 gerl il
(E) ®TcTeh HIX SMfcishl o Hed a1g Hegad ol Aeaad
4= feu 7o fawmedi § 9 WE I F T FIfSC
(1) e (B) #R (C)

(2) FEE (A) ¥R (O)
(3) = (A) 3 (D)
(4) T (E) 3R (A)

Question Number : 130 Question Id : 5330722342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The inmates of a Borstal School were made to participate in a study on their sexual orientation.
The finding were published in a journal revealing details of the Borstal School.
Which of the following ethical principles were violated ?

(A) Right to information privacy

(B) Right to informed consent

(C) Using published data with aknowledgement

(D) Refraining from fabricating or falsifying data

(E) Refraining from use of people’s unpublished data

Choose the correct answer from the options given below :

(1) (A) and (C) only

(2) (D) and (E) only

(3) (B and (C) only

(4) (A) and (B) only

Question Number : 130 Question Id : 5330722342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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drdee Tha o T ot S - sifiEar o gy § T S 9t SeEE § 9T oF &% fae #a
T SeE % TeRd 1wk afseRt § geRife foRan T e 1 sided ke o foeta & yeRe R
20 Fcd H il # | o7 sem-fagid 1 3eas gen

(A) T AT T SRR

(B) Twgf=a Henfd 1 AR

(C) sfueeipfa afed g g9 1 AR

(D) < I Fe T 3T WA SR ¥ W

(E) M % STHRIFYTT T 6 WAM ¥ TS

= fau U fomredi # @ W& I A T FHWGY

(1) = (A) &R (Q)

(2) = (D) 3R (E)
(3) A (B) 3N (Q)
(4) e (A) TR (B)

Question Number : 131 Question Id : 5330722343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List- 1 List - II
(A) Action Research (I)  Deals in particular unit/case
(B) Sample used (II)  Survey method
(C) To know the status of literacy (Ilf) To save time, money and energy
(D) Case study (IV) For finding solutions to current problems

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(III), (C)-(1I), (D)-(IV)
(2)  (A)-(IV), (B)-(II), (C)-(I), (D)-(II)
(3)  (A)-IV), (B)-(IL), (C)~(1I), (D)-(I)
(4) (A)-(I), (B)-(ID), (C)-(IV), (D)-(T)

Question Number : 131 Question Id : 5330722343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
et - 1 et - 11

(A) Frafre siy () =% Tt favr gfe /geta 9 Safua )
(B) WgEd WA (I weeo fafy

(C) waran =t gfefa S (1) 94, 9 3 Sef 6l F=d L

(D) WeRTUI- ST (IV) T9EmfTs TaEnsd & qaH ge

e feu T foeredl & 9 T S F = F
(1) (A1), (By(II), (C(I), (D)-1V)
@) (A)LV), (B)-(1D), (C)-(1), (D)-(IL)
(3)  (A)-1V), (B)-(I), (O)(1D), (D)-(O)
@) (A, B, (©)-IV), (D)-O)

Question Number : 132 Question Id : 5330722344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under the whose cha'u'manship did committee for evolution of the New Educabion Policy submit

its report in May 2016.

(1) Prof. Ramachandran

(2) Shri. T.S.R. Subramaniam
(3) Dr. K. Kasturirangan

(4) Prof. RS. Kureel

Question Number : 132 Question Id : 5330722344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

5 foen Hifa o 7wt % foe ifea wimfa = fFitea °§ 9 foraeT sreasa & 7 - 2016 H 31991 UE 9&qa

H

(1) 9. TS

(2) 4. AR GaHTay
3) el . FHEGIUH

(4) T FRTH. FA

—

Question Number : 133 Question Id : 5330722345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

education includes such leamj_ng situations which do not have curriculum, syll'abus

or certification but typically take place naturally as part of other activities.
(1) Formal

(2) Conventional

(3) Informal
(4)

Progressive

Question Number : 133 Question Id : 5330722345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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foren o 5m we & orfrm = feufaat € fomd wew=al, wremsww @1 yvm & € e o
ST 3 1 3 = e GrERE w1 A e & Ah f

(1) o=
(2) W
(3) fHTEfE
(4)  wfeie

Question Number : 134 Question Id : 5330722346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

International Literacy Day-2024, is to be observed on the following theme -
(1) Digital literacy for all

)
(3) Literacy and skill development

(4) Promoting literacy for a world in transition

Pmmnling multilingual education : llteracy for mutual understa_nding and peace

Question Number : 134 Question Id : 5330722346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SRS e feas - 2024 1 Fem (W) 4 2R

(1) Gt =i o fon fefsea wmara

(2) =g wifta fren =1 agmEn « gRefis aue SR wifa e war
(3) HIE 3R e oy

(4) GEHo FA o fave * fow wemar 1 e 2

Question Number : 135 Question Id : 5330722347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

NEP 2020 stated to establish a National Repository of high quality resources for knowledge sharing
on government digital platforms.
What is the name of digital platform ?

(1) Disha
(2) Nishtha
(3) Diksha
(4) Nipun

Question Number : 135 Question Id : 5330722347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e wifq, 2020 § @R fefded wewH W 9@ 9En 1 & fau e = qued 99EE
AR 1 Tero %1 Seehg 1 39 Tefses wewd = = am €

(1) feom

2 fre
(3) e
(4) fAgm
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Question Number : 136 Question Id : 5330722348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following movements in chronological order.
(A) Bishnoi Movement

(B) Gram Shikshan Muhim

(C) Chipko Movement

(D) Lok Jumbish

(E) Mahila Samakhya

Choose the correct answer from the options given below :
(1) (A), (B), (O), (D), (E)

2 (A), (B), ©), E) (D)
(3) (B, (D) () (B) (A)
) (D) (O (A), (B), (E)

Question Number : 136 Question Id : 5330722348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feAifeRa sfcrermi/ qfedi =1 SeTshd | Heed Hifeg

(A) Toeig sEer
(B) umH Targror gfgw
(C) faweR! stigem
(D) @ik gferwn

(E) wfeen qHrE

e fe T foreredl o F T ST = F
1) (@A), (B). (©), D). (B)

(2 (A), (B), (Q), (E), (D)
(@) (E), (D), (O), (B), (A)
(4) (D) (O (A). (B), (E)

Question Number : 137 Question Id : 5330722349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Jean Piaget, children’s knowledge increases through the process of and

(A) Assimilation

(B) Adaptation

(C) Scaffolding

(D) Accommodation

(E) Application

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (A)and (D) only

(3) (B) and (C) only

(4) (C) and (E) only
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Question Number : 137 Question Id : 5330722349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i foarst % STFER F=0 1 FH #R o HIEAH § wedl § |
(A)  STHHHT

(B) sgFed

(C) wacil (FhRmifeeT)

(D) @HSH

(E) orwan
e feu T faehedi § | W@ ST =EE H
(1) 99 (A) 3R (B)

(2) Ed (A) ¥R (D)
(3) & (B) 3R (C)
(4) = (C) ¥R (E)

Question Number : 138 Question Id : 5330722350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the characteristic of lifelong learner ?
(A) Self-learning

(B) Time flexibility of learning

(C) Social learning

(D) Goal-oriented

(E) Rote learning

Choose the correct answer from the options given below :
(1) (A) and (B) only

() (A), (B), (C), (D) only

(3) (A), (B), (E) only

(4) (O, (D), (E) only

Question Number : 138 Question Id : 5330722350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa § § =@ i e wia stfermerat it fadoand &2
(A) aea-S1fay

(B)  ATERTH =T It A=l

(C) TSR e

(D) weAHE

() T Al

e feu T foeredl & 9 T S F = F

(1) % (A) 3R (B)

(2) F=@ (A), (B), (O) 3R (D)
(3) =€ (A), (B) 3R (E)
4) & (Q), (D) R (B

Question Number : 139 Question Id : 5330722351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is essential for building a learning community ?
(A) shared beliefs

(B) shared history

(C) cultural differences

(D) different goals

(E) connectedness

Choose the correct answer from the options given below :
(1) (C), (D) only

() (A), (B), (E) only

(3) (®) (O, only

(4) (C), (D), (E) only

Question Number : 139 Question Id : 5330722351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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st gerE fami o fore o stfamd € 2
(A) GTST HTa
(B) N 3oy

(C) wiEpfas fmmang

(D) TCT-3{eT ed

(E) HHeR

e feu T foeredl & 9 T ST = FE
(1) =@ () ¥R (D)

(2) FEE (A), (B) 3R (E)
(3) %= (B) 3R (C)
(4) =€ (C), (D) ¥R (E)

Question Number : 140 Question Id : 5330722352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(A) Learning : the treasure within (I) Edgar Fauré
(B) Learning to be : The world of (I)  Jacques Delors

education today and tomorrow
(C) Education and National Development (III) D.S. Kothari
(D) Learning Without Burden (IV) Prof. Yashpal
Choose the correct answer from the options given below :
(1) (A)-(D), (BRI, (O-(11), (D)-(IV)
@) (A)HIV), (B)(IL), (O)-(ID), (D)-(1)
(3)  (AHD, (B)-(I), (O, (D)-(IV)
(4) (A1), (B)-(1), (©O)-(), (D)-{1V)

Question Number : 140 Question Id : 5330722352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
et - 1 et - 11

(A) @ ;g g fafer () TSER

(B) wfHZ el :qoce oAF Uhvd () Sifead o
g2 e AN

(C) USHYA TIE 9 STATH (III) E1.TH. FEi

(D) @ faerse €4 (IV) 1. F9maret

= fou e fasredi § § W& 3R FEH FHIfAC ;
(1) (A)-(1), (B)-(II), (C)-(1), (D)-(IV)
(2)  (A)-(IV), (B)~(IIT), (C)(IT), (D)-(L)
(3)  (A)-(), (B)y(L), (O)-(L), (D)-(IV)
4)  (A)-(1D), (B)-(), (C)-(11I), (D)-(1V)

Sub-Section Number : 2
Sub-Section Id : 53307295
Question Shuffling Allowed : No

Question Id : 5330722353 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Read the following passage and answer the questions.

The Indian Adult Education Society was formed in 1937 to inves tigate the problems of adult
education in and round Delhi, to explore methods of solving it and to extend adult education work
throughout the country. Though a few adult education agencies like Bombay Presidency Adult Education
Association, South India Adult Education Association and Bengal Adult Education Association had
been formed to coordinate and extend adult education work in their respective areas, the need for a
central organiztion with branches/associates in different provinces and states was increasingly felt. At
the request of some of its very active members the Indian Adult Education Society took the initiative in
organizing the first Adult Education Conference in Delhi in March 1938 to confer and explore the
possibility of bringing into being a central organization. In December 1939 the second all India Adult
Education Conference was held in Bhagalpur under the presidentship of Dr. R.P. Masani. [t was at this
session that the constitution of a central organization was adopted.

Sub questions

Question Number : 141 Question Id : 5330722354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Indian Adult Education Society was started in :

(1) 1937
(2) 1947
(3) 1957
4) 1967

Question Number : 142 Question Id : 5330722355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 93/99



8/22/24, 11:55 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

In which conference was the constitution of central organisation of IAEA adopted ?
(1) The first All India Adult Education Conference in Delhi

2) The second All India Adult Education Conference in Bhagalpur

3) The third All India Adult Education Conference

4) The fourth All India Adult Education Conference

A p— —

Question Number : 143 Question Id : 5330722356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Second All India Adult Education conference was held under the presidentship of :
(1) Dr. R.P. Masani

(2) Dr. Ramlal Parekh

(3) Dr. Malcom Adisheshaiya

(4) Dr. Mohan Singh Mehta

Question Number : 144 Question Id : 5330722357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Adult Education Association existed in the following places prior to the formation of Indian Adult
Education Society.

(A) Punjab

(B) Rajasthan

(C) Bengal

(D) South India

(E) Bombay Presidency

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

() (B), (O) and (D) only

(3) (A), (B) and (E) only

(4) (O, (D) and (E) only

Question Number : 145 Question Id : 5330722358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Indian Adult Education Society to was founded to -
(A) Start PG programmes in Adult Education

(B) Investigate the problems of Adult Education in and around Delhi
(C) Explore method of solving problem of Adult Education

(D) Extend adult education work throughout the country

(E) Conduct total literacy campaigns in the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(@) (B), (O and (D) only

(3) (O, (D) and (E) only

(4) (A), (B) and (E) only

Question Id : 5330722353 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix
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Question Numbers : (141 to 145)
Question Label : Comprehension

Freifere TenyT =t ST gde ufey 24 fou o vy & S i)

W =k e |rarael o1 fmior foeefl o7 S5 o719 o & & § ags foan & aeensdi =
ST T, TR GATE 1 fafiE w1 g e SR Sw ) o foan 1 weR A % 9eyd § ad 1937 |
fopar o on 1 Tafy s OfSrSdt die foen waifousm, <femr e We faen wEifguem &R e die fen
TEITGUYH ST g foen 1 Fe usifaar sie-o10a & § Wig fen % gER o) wead 3 forn a9 T off, ster-
Fe Fidl AR Tl § fafy= e/ Heg, e gfed s ed 1 SEvdsdl STl Heqd &1 571 @ o |
F AfTHRT TSE F A8 W AT o2k e Q@] A Tk Fsid e i S99 3 i a1 Fl 9l
T % fore w7, 1939 # = S, O & sremsal § arerqR # fgdta sifae wdtg g fen awed
TS 3T | SET SIS H Fa1g TS o T Gas weard i Seer fefan |

Sub questions

Question Number : 141 Question Id : 5330722354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR s e |l =1 e Ty o ga ?

(1) 1937
) 1947
(3) 1957
4) 1967

Question Number : 142 Question Id : 5330722355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YRTE ga%eh e TEfuyE % F=id Sed % T84 & gEE i § 9 g geierd | o7 gen ?
(1) fooeit # smafea gy sifae yrda g6 e goad

(2) YFTEg H s fgdr sfae v sEes e g
(3) g SAfEe e a9 e g
(4) = sfEe 9Rdra g e g

Question Number : 143 Question Id : 5330722356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

faeta stfiger yRdrT aa%er e Tier o1 srErsH R sregear J e ?

(1) =0 S JEE
(2) =1 IHeTE 9NE

(3) = Howrm snferen
(4) =1 Hred e wea

Question Number : 144 Question Id : 5330722357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YR Fa%F e |raEe] & st § o 9 qd feiferd sl § aaser faan vEifirees foemm 9 -

(A) G
(B) ST
(©) =T
(D) TfeT Ra
(E) @frsl UfsrSt

e feu o foeredl & 9 T S F = F
(1) F=d (A), (B) 3R (C)

(2) FEA (B), (C) 3R (D)
(3) A (A), (B) 3R (E)
(4) e (), (D) SR (E)

Question Number : 145 Question Id : 5330722358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT FIE Toen Srrge i T i Seva O % e o ¢
(A) =Tk Toe o TR FEwA SIRY A & fou

(B) feeelt iR Tk sTa-9TE F & § wer (die) e i wwEned @ eren w
(C) =aEeh Toner sl wrenadi o FRrereor okl ot o1 gar e
(D) T 9 H gk e & #E w uuR

(B) %1 T HHY &R ST T

= feu 7o fasredi O | W@ 3 T FfAU

(1) =@ (A), (B) 3R (O)

(2) F=4 (B), (C) 3R (D)

(3) F=@ (Q), (D) ¥ (E)

(4) A (A), (B) 3N (B)

Sub-Section Number : 3
Sub-Section Id : 53307296
Question Shuffling Allowed : No

Question Id : 5330722359 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Read the following passage and answer the questions.

The New India Literacy Programme (NILP) has five broad objectives in line with the National

Educational Policy 2020. Four of the objectives are given below.

(i) To impart Foundational Literacy and Numeracy, viz, reading, writing and numeracy to
non-literates and non-numerate persons of 15 years and above age group in the country.

(ii) Toimpartcritical life skills which include among others financial literacy, legal literacy, digital
literacy, environmental literacy, disaster management, commercial skills, health care and
awaerness, child care and education, famj_ly welfare efc. I:hrough convergence with concerned
ministries / departments.

(iii) To impart basic eduation to learners of 15 years and above age group in the country. This
will be implemented in collaboration between NCERT/SCERT and NIOS/SIOS.

(iv) To impart vocational skills to learners of 15 years and above age group in the country. This
will be implemented through convergence with concerned ministries/departments at the
central and state/ UT level. The scheme will be implemented in both the rural and urban
areas of all districts of the state and UT’s in the country.

Sub questions

Question Number : 146 Question Id : 5330722360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is foundational literacy and numeracy ?

(1) Writing technical reports

(2) Making profitable investments
(3) Analysing legal document
(4) Reading, writing and numeracy

Question Number : 147 Question Id : 5330722361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How will vocational skill programme be implemented ?

(1) By offering it through private sector training and online programmes

(2) By offering international internship and apprenticeships

(3) By convergence with concerned Ministries/Departments at the central and state/UT level
(4) By integrating it with the university programme

Question Number : 148 Question Id : 5330722362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How will the basic education programme be implemented ?

(1) By assigning the work to private tutoring and coaching classes.
(2) By collaboration between NCERT/SCERT and NIOS/SIOS.

(3) By collaboration with international educational organisation

(4) By integrating basic education with arts and sports programmes

Question Number : 149 Question Id : 5330722363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What will be included under critical life skills ?

(1) Paramedical training and Anganwadi training

(2) Training for culinary arts, fashion designing and travel planning

(3) Financial literacy, legal literacy, disaster management, digital literacy
(4) Sports coaching, language translation

Question Number : 150 Question Id : 5330722364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Where will the New India Literacy programme be implemented ?

(1)  Only in urban areas of selected states

(2)  Only in rural area of under-developed regions

(3) In metropolitan cities and capital territories

(4) In rural and urban areas of all the districts of states and UTs in the country

Question Id : 5330722359 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

FreifeR TTenyr &t s gdes ufeu ot feu u wyw & 5o difs

9 TR WIEAl R (TF IE UA W) & Ui SAe Sevd U fwen Hfifa, 2020 F evgEy 130 WX

Ty e €

() ST HaRal i SEEE 17 YeH, TEA i JeAr sy & 9 15 9 i 3 s & ag-a
T A ST SR A9 "Ik Al F <

(i)  eRifder STEF =Tl Yed e fo9H o= 9l o qie-a1y fodra e, fafus e, fefaea
TR, TR TaR], SAT9eT WatH, aifufsae Fivd, e ¢Eig 3R SEedd], Jed Eig
i foren, oftem e sl Heis foen gefus dredi/faum & gmgao & oy 9 foan s
ftrfed €

(i) So H 15 99 iR 39H Afew F g 9ue F Afwaedisli 1 e e uem e sEa
FIAETH TTHISSNE )/ THHTESTE 3R TAARE/ THASHTH & "edr ¥ fan smum |

(iv) <9 H 15 99 3R 3HH TR F 99-371 F Afermekaiai] F A@GEfF REE TSH HE/ THH
FTATEEA g TR 3R U9 YRR/ T9 U9 & T T Gafed waerdi /faarti & | gmgam &
ey § R ST eE R o Sw H Ul AR TS U A 3 geft areor SR wred At it
Tefan < |

Sub questions

Question Number : 146 Question Id : 5330722360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS H1een SR e # § ?
(1) @Rt gfdered fera

(2) envEEE e w

(3) faferes @S = fargeroo
(4) 9SH, oEd 3R dEEHE
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Question Number : 147 Question Id : 5330722361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSI =hI9e] SHTAHH ohl AT w4 B ?
(1) STt & & gfoer 3R Aes FEwal & TEH 8 38 YSH

(2) RO g SR e ueE
(3) = HEER T91 T /HH 5T & W 92 Hathd waredl/ e o 9o G aaen F 1w 8§
(4) =H feoresafamne & W™ (FREEA) § Thigd 0 |

Question Number : 148 Question Id : 5330722362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A foren FEwy &1 FEfage w9 T s ?
(1) et (o weert) =it (arh) siv SifEn waeii = o @ gafee 06

(2) TUAHESNE/ THHESRE iR THTESIUH/ THSTESUNaNE & Hed WeAn % g
(3) SFRrEE el el % | HEAn wlh
(4)  SfTE e 1 e @R A FEEH F WY UhEd FE

Question Number : 149 Question Id : 5330722363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Shifder Siied SI9Te o Sarfa feifera # 9 g e faan smam ?
(1) s foe iR SAieTe! wive

(2) I Fen, Fer fesmst i g s w5 afem
(3) ol waman, fafie @erar e yey, fefsea wera
(4) @ FiIfET, 9™ AR

Question Number : 150 Question Id : 5330722364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 T WI&A] FIEFH 1 FEaaq el T s ?
(1) e =afTa T o el &5 |

(2) Fad Aoq-faskfad &3 o T &= o
(3) HeMTE Y SR TS I A o
(4) TUH T SN WY T &l oF At el o umrr o vred e o
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